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1) A group of 8 people decide to go on vacation which consists of
five males and three females. Now a two member group comprising
of one male and one female member is to be constituted out of these.
Amongst the females, Ms Abhishek refuses to be a member of the
committee in which Mr Bharath is chosen as the member.
Considering this scenario, In how many different ways can the
committee be constituted?

a) 15

b) 14

c) 12

d 10
2) Apeksha was asked to solve an arithmetic problem which stated
that the sum of squares of three numbers is 138 and the sum of their
products taken two at a time is 131. What would be their sum?

a) 35

b) 42

c) 20

d) 18
3) Rajas purchased an overhead tank for his new home but later
found that it had a leakage. The tank can be filled by two inletpipes,
which can individually fill the tank in 12 _min and 15 min
respectively. Despite leakage, the two inlet pipes together can fill the
tank in 20 min. How long will it take t0 empty the completely filled
tank due to leakage?

a)

b) 12 min

c)

d) 16 min
4) How many 3-digit numbers can be formed by using the digits 1 to

10 min

15 min

9 if no digitis repeated?

a) 408

b) 504

c) 560

d) 680
5) Ananya wants te plant 44 Arecanut trees, 66 Banyan trees and 110
Sal trees in equal rows (in terms of number of trees) in her plantation.
Also, she wants to make distinct rows of tree (i.e. only one type of

tree in one row). The number of rows (minimum) that required is

1) 8 TN o1 U THE Da! T S T HEAT HAdT & [5T6H T
T ST A AT STIHA 21 76T $7H § Toh To 3T Tk Afeet
T ATt A FEEA T T TS foram ST ) Afeerstt J, it
AT = 30 A 1 Hewr S @ $ohr L T foram oft v
! TEET o T H AT TIT A1) 36 IRGYT 1 €A § Wid T,
Tftrfar =T e fohae STaT-STeT adieRl & T3 T HehaT B2

a) 15

b) 14

¢ 12

d) 10
2) 3TUET 1 Weh SHRITIOTC I FHEIT bl 8T ohi o foTT skt T
ot foreret sheT TR o foh i Teamet o ot ot 90 138 § 37
Te ST &1 1 o OX 3o UM 1 AT 131 ) 3 seansii
T FT T BAITY

a) 35

b) 42

c) 20

d)wl8
3) TS 3 Y 7T =X o foTU U Sfiaiee 3 THier wifeh g
5 g foF Suw fare oml 3 T &t Seie UTST | ST ST Eehdl
B, ST STHT-3TT 3oh ol ShAST: 12 fime 3T 15 e & sk dehd
&) feera o e[, 3 $Teie sy TRt & i 20 fiFe o s)
Tehd €| TTe o HR0T O e ¥ WL gY &F Wit B
TereT Tm m?

a) 10 fime

b) 12 fiFe

c) 15 fime

d) 16fme
4) 1 ¥ 9 ok o 37ehi ST SUANT Bk ToheT 3-37eh1a TEaTd STTS
STT TRl & AT IS e e & ST 22

a) 408

b) 504

c) 560

d) 680
5) ST U AR H 44 GAW 6 U, 66 5018 % U AN 110
T % U T Ul § (TSt it T & Gew /) o =medt
B a1 &, 98 U il FT-3Ten Uihat ST St § (St
U Utk T ohael Ueh YR T US)| TG Uil sht @

a) 2 (R Bt
b) 5 a) 2
c) 10 b) 5
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6) 5 wrestlers participated in an Olympic competition, average
weight of the 4 lightest wrestlers is 40 kg, Average weight of the 4
heaviest wrestlers is 45 kg. What is the difference between the
maximum and minimum possible average weight overall?

a) 2.8kg

b) 3.2kg

) 3kg

d 4kg
7) Sudarma starts a Saloon business with Rs 36,000. Upon hearing
about the profitability of the business he is joined by his friend Divya
after a certain period of time, who invests Rs 27,000. At the end of
the year they divide the profit in the ratio of 8:3. For what period did
Divya join Sudarma?

a) 6 months

b) 8 months

¢) 7 months

d) 5 months
8) Annie is a very curious chemistry student. She mixes 1 unit-of x%
alcohol with 3 units of y% alcohol to get 60% alcohol.df x >y, how
many integer values can x take?

a) 19

b) 20

c) 21

d 13
Direction for the following 6 (five) items:
Read the following six passages and answer the items that follow.
Your answer to these items should be.based on the passages only
Passage 1
Planning and Design for Sustainable Urban Mobility argues that the
development “of "sustainable urban transport systems requires a
conceptual leap. The purpose of ‘transportation’ and ‘mobility’ is to
gain access to destinations;-activities, services and goods. Thus,
access is the ultimate objective of transportation. As a result, urban
planning and design should focus on how to bring people and places
together, by creating cities that focus on accessibility, rather than
simply increasing the length of urban transport infrastructure or
increasing the movement of people or goods. Urban form and the
functionality of the city are therefore a major focus of this report,
which highlights the importance of integrated land-use and transport
planning. This report provides some thought-provoking insights and
policy recommendations on how to plan and design sustainable

urban mobility systems.

c) 10

d 11
6) 5 TEAA! = Teh T ueh ST # i fofar, 4 gerd geoh
TEASTH! T G TS 40 Fohedl €, 4 Tl Wil weeta
HTEA I 45 Tl 31 Tt THeTTeRt ATRrehad TR =[as §vd
S W o S T ST B2

a) 2.8 forctumy

b) 3.2 framm

c) 3 feretimy

d) 4 fhetom
7) GEWT 7 36,000 T & U T AT I[& FohT| o
1 ATYEAT % SR H Yo Uoh ({2 FafY o <18 3wk iy
foea S S[ STT 2, Si1.27,000 ¥ 31 ST eaT 21 a9 o
3T T I AT h18:3 % S | foifora wRed € feen form
Y o o GaTu o wrer et 852

a). 6TEN

b). 8 HEH

¢) 7HEN

d). 5TEH
8) Tt T gd & N9 W I AT BET 21 F- 60%
IhIEet STH L o fTT 1 I x% 3feshied o A9 3 (e
y%ﬁ@ﬁ%ﬁﬁﬁﬁ%lﬁx>y,axﬁﬁﬁwmaw
82

a)

b)

19
20

c) 21

d) 13
FreaferRaa 6 want & foru Ao
frfafad B8 ufteeel =i ufew TR 36k a1 1 aTet Wit o
ST AT 37 w331 o AT 31TehT ST hare? gi=ael W ATeia
HEICIHY
T 1
Tad e Tiaeiietar o fofT TetT 31 fesitge &1 aeh © o gaq
el uftae gonferat & foerd & fofe u Senfies s i
AEIHAT 2 e T Tiaefiedr o e Tided,
Tfafafery, darett 3K cl%gléﬁ dh qg?,[ (accessibility) 919
AT 2 36 TR, g Tiae ot Sifm e 21 Aefier, vt
e ot fesieT =1 30 91 W eI Figd s =nfee &
TRt aitere gaTaT Giel o SeTs Sg AT ARTH A1 AT bt
SATATSITET ol SIGM o SISI, AN 37T TAMT bl Teh H1 Hd
AT ST, ST foh FIHAT 0 A 2hisd Fid &) gafere el &9
T ITET T AL 30 1S o1 o TE Ik &, ST Cehidhd
T 9T R AREed AT o Hed T YHRT STerd 8l I8
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9) It is implied in the passage that
a) The desired end goal of efficient urban transportation is the
accessibility
b) Urban mobility will be a success when movement of people
and goods increases
¢) Urbanisation offers the solution for all the problems that
smaller cities face
d) None of the above
Passage 2
Climate change is one of the most dangerous threats ever faced by
humankind. Fuelled by two powerful human-Induced forces that
have been unleashed by development and manipulation of the
environment in the industrial age, the effects of urbanization and
climate change are converging in ways which threaten to have
unprecedented negative impacts on urban quality of life, and
economic and social stability.
Alongside these threats, however, is an equally compelling set of
opportunities. The concentration of people, industries and
infrastructure, as well as social and cultural activities willsmake
urban areas crucibles of innovation, where strategies can be
catalyzed to reduce greenhouse gas emissions and to improve coping
mechanisms and reduce vulnerability to climate change impacts.
However, successful responses to the challenges of climate change
require changes in how urban areas operate. Such responses also
demand closer coordination between, local governments, civil
society, community and private sector stakeholders, while at the
same time building new .connections between ,central power
structures and marginalized segments. of urban populations. Cities
and Climate Change ‘report teviews the linkages between
urbanization and’ climate change, and .illustrates the significant
contribution of urban areas to climate change, while at the same time
highlighting the potentially devastating effects of climate change on
urbanpopulations.
10) Which of the following is/are true in the context of the passage?
1. Tt is easy to address the impact of climate change on cities
as it has different results than effects of urbanization
2. Urbanisation seems to provide overwhelming opportunities
to mitigate the effects of greenhouse gases
3. Triumph over the issues of climate change requires close co-
ordination between various stakeholders of the society
Choose the correct code
a)
b) 2 and 3 only

1 only

frard gaa sredt iifierar Jumferat it JsHT MM 3R 3=
feomeT & & o & Fo drEft-awsh siagy i ifom
fowTieet yam et 21
9) ufeae o ffga & fom
a) FNA YU UREET H Aifed HfdH dET ugh
(accessibility) ?
b) AN ST AT T SATATSITET ST W et nfaefierar
6 BRI
c) TTEROT I Tl THERAS! i WHIEN T AT &
TSFTeRT | BT IR A ©
d) 3789 s o T
T 2
ST UiEldd A ST s AT ST qoF % Hod GTeh
Gl § ¥ U ol $fEfie 1§ faw iR wafawr & aiedT
Y 21 vIfeheTTedt AT dreRdt @ IR i, IR 3K
STeTaTyg TiEd o T S atehi & afafdd 2 @ & foed wredt
Sfia sht qureT qe STfieh ST |rTiSTe Rt o 3vdde
AT TG TS T Tl 2
BTcAlTeh, 1 Al o HT-TTY 3TSHL T Ueh GHT &Y O g
aE +ft 31 TN, Je AR R @t o - wTs
3T Fiahfcren AT eIt hl TRIAT I &1 ol TaTaR o foTg
TEel s A, STl WS W IS Al FH F IR
RIS O & T T TR STy TIERi TTal 3hi S sh
T L o foTT WHAfert T ST foham ST weha 21
BTeAToR, STy aitard hl I o fore webet gfafsmarstt &
foTe STt &1 3 T o alich B SaeiTe shi TRl 31 36
e oh TSRS Tty SehRi, AT TS, Fary 31 fsft
& o fequmeht & sfter afs Treae it off win st €, e &
a1 hef forsrelt SrerTet it vt SATeTd % JIve W
AT &1 o ST 7T a1 BT HHTOT L 3] e S SFerary]
it RaTe Rrediertor 3R oty aiEd & st deiei
Gt At 8, TUAT Ferarg e § el &E % Aee
ANTEH I AT &, Safeh @ & el el WA
afiterd o dTferd fomTeTeh R TuTE St ISR SR Rl
10) uft=ag & wedl § frefafad & & wF-anra ae /22
1. YU W S qiadT o T Sl Eeifed FH
M & HAifh $Heh AEUHT o THTE shl JordT d

rerT gty §
2. T T & foR sredieRtr iNetsH Nt o yTe o e
A % o7 3rcafires Sreer yed A e
3. STy qiter o el W forer o fore @St o farfire
et & o= =if¥s aH= i sTaweRdar ®
EEHEICEE]
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¢) 1and3 only
d) 1and?2only
Passage 3

Planning Sustainable Cities report reviews recent urban planning
practices and approaches, discusses constraints and conflicts
existing, and identifies innovative approaches that are more
responsive to current challenges of urbanization. It notes that
traditional approaches to urban planning (particularly in developing
countries) have largely failed to promote equitable, efficient and
sustainable human settlements and to address twenty-first century
challenges, including rapid urbanization, shrinking cities and ageing,
climate change and related disasters, urban sprawl and unplanned
peri-urbanization, as well as urbanization of poverty and informality.
It concludes that new approaches to planning can only be
meaningful, and have a greater chance of succeeding, if they
effectively address all of these challenges, are participatory and
inclusive, as well as linked to contextual socio-political processes.
11) According to the passage, which of the following can be said
about the urban planning?

1. In order to provide sustainable and efficient human
settlements it is required to make a shift in Urban planning
from traditional approach

2. The problems of urbanisation in the twenty.first century can
be dealt with participative and inclusive approaches.thatare

more responsive

Select the correct answer using the codes given below:
a)
b) 2only
c) Both of the above
d) None‘of the above
Passage 4

1 only

In India, water resources are.treated as commons. It is not treated as
an/economic resource that has monetary value and a price to pay for
its consumption. We also consume rapaciously in the false belief that
rain will replenish our water stock. On a per capita basis, water
availability has/been declining — from 1,816 cubic meters in 2001
and 1,546 in 2011 to 1,367 cubic meters in 2021.

In India, water is a source of huge inequality. Often, when a water
source is impaired, the many people who had found employment
through it get negatively impacted. Employment in fishing, sand
mining, water-carrying services gets impacted. The restoration of the

water supply often leads to the privileged cornering access to it.

a) ohad |
b) ohad 2 N3
c) Ha 133
d) haeT 132
A 3
T IR T AISHT ST AT BTet & et s st 31
gioahioTt ot wftelT ST €, HiSEnararet 3R Nt W =
HIAT 2, S UH T gERI0T hT Te Het & ST IredieRtor
T AT A o w1 STRar 81 aE e wa @ R
et R o forw artafees gf¥ehror (ferereent, ferspmersfiet St
) THM, FI1 3R TA@ AT SRqar el S et o S st &
Haiferd STuaTeTt afed el Sarra 1T tf=ntr wl-sredetor,
T & T ST STI=TNERAT T TedeRtoT Sehiad] aet i
AT 6T SHTE St H HIhT €9 o fohet 1@ &) T8 freahed
Trenteren 2 fop frears o 71 gfEeRivT Sharer Tmeleh &1 Tehd &, 3T
HBS Bl b1 31727k ST €, afe o 37 @t Attt shr srreft
ST TR 8, Teuit ST arrash 2 8, arer & wrefies
HTTRTh-TSTAT e TfsRarstt & SS 81d 2
11) Uft=ee o STTEr wredl f-aisr o s H freforfid o &
HET ST HohelT 27
1. Had SR FRIA A ST bl T8 A o foIg 31t
fRiTer o wrufier gfEehior & seare it TR 8
2. SFhIE TEl W TeeRtor o FHETST Bt T 3T
T gfEhTor & fAer ST Tkt & 51T 21fren Saeerdt
H
it fow T e T SRINT TR IR I
a) el 1
b) a2
¢) 132
d) U HE ot T
T 4
I B STel SETEHT shl GTHT=T HIHT ST &1 21 36 Teh S71ifeh
HHTEA o &9 H 8] HHET ST @ foreent Hifssh 7o 8 3R 38
ST o6 FeC TTT il shi shiviel 81 8H 56 913 foramar o oft g
T T ST L & foh ST 2R art o e st o i wfer
itk TR I, YT ST STTHAr 912 W&H e - 5 2001 § 1,816
Faforeh Hiet R 2011 H 1,546 92021 H 1,367 Ffofeh HeT &
T
T H, STl W STEHTAT 1 | 2| T, STeT g St Jld
QU AT 2, AN Sgd § ANT (5770 390 HTEAH § ST fiFT o,
THRIcHe €9 H T Bd 8| 7Sl Uehed, Id T, Sl
e STl § USHTR 1o SraT 81 9Tt 2T STl ot srereft
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Large queues at water tankers outside slums are a common visual in
our cities. Almost all our high-rise buildings supplement water by
buying tankers.
India’s water problems are both huge and complex. By creating the
Ministry of Jal Shakti in 2019, the present government attempted to
consolidate all departments and ministries that dealt with water
issues to focus exclusively on addressing India’s water challenges.
However, at the micro level, the multiplicity of the departments that
govern water and allied issues is still a huge hurdle to a composite
view and sustainable solutions. In the last two Union Budgets, the
empbhasis has clearly been on economic development that is inclusive
and sustainable at the same time.
12) Which of the following statement(s) is/ are true in the context of
the passage?
1. Per capita water availability has decreased more than half in
the last decade
2. Presence of too many institutions at the lower rungs of the
government has proved to be a hurdle is addressing the water
issues effectively.
3. The restoration of water supply has so far benefitted the rich

only.
Select the correct answer using the codes given below:
a) 2and3 only
b) 3 only
¢) 1and3 only
d) 1and?2only
Passage 5

“Rivers should link, not/divide us,”said the Indian prime Minister
expressing concern ‘over interstate disputes and urged state
governments to” show “‘understanding and consideration,
statesmanship’and an appreciation of the other point of view.”

Water conflicts in India.now reach every level; divide every segment
of oursociety, political parties;states, regions and sub-regions within
states, districts, castes and groups and individual farmers. Water
conflicts within and between many developing countries are also
taking a serious turn. Fortunately, the “water wars”, forecast by so
many, have not yet materialized. War has taken place, but over oil,
not water. Water is radically altering and affecting political
boundaries all over the world, between as well as within countries.
In India, water conflicts are likely to worsen before them being to be
resolved. Till then they pose a significant threat to economic growth,

security and health of the ecosystem and the victims are likely to be

HFH 39 1T, FIIOTIeepi SITH STHIT ol ol o8 ol ST o
STt 31 SHN WU § AfCH STl o aTet Tt & SR I st
AN AT Toh 3T ST 8] AR ot ot S5t s ot
GliaeRt T T IR e gl

VR ShT ITHT ol HOEIT S5 St AR ST a2l 2019 H 5t
Tk AT ST, TAHT TR o 37 Gt foramt 3T wistrerat
T THTRT L T T TR S HHT o R @ fued o ik
forTy =7 & TR oY STet TR o1 FETE A 0 S hisd
L | BTN, Gar &R W, ST, 37K S HE i AR
et fomtt ot sEerar ot ff uh www g i wad
T o foTT Ush oIt anelt 21 fUset &t Sheig seiel 0, Ty ®9
T forehrer o ST ferarm TN & il U & |we | wHTeRi ST
Had g

12) ufceese o dex § freferfad & & 6 /8 soe 9 3782

1. T s 9 | Wid st ot st JucieudT 3Ty |
SATET HE TS &

2. BN o (=t qTe W agd § Hem i utearta
T e WMo €3 & S I 9 el ol ST @
Helferd = & 2

3. S ST 8 & 3T qo T ST i & wrEaT
g

el T T e T SRINT 3 TeT IR I

a) Facl 2 3

b) Had 3

c) AT 133

d) Faet 1 R 2

EEE

FHauisdTa foamat o fefdT =2k sid gU A Je w5 5

I T=T TR A "HE 3R e, Teifag ofit o
gieeniv 6l e fomm o 31mre foral

T § STef HEY 376 B T 0 T AT €, TN SHTS ok g,
TSHiferer ga, Tat, &t 3t 39-85 ot e, fore, sfe
3R wEl iR safea framt & ofiae fonfor war 21 &
forenrerfier <o o +fiaR 37 37k o= oft /7 |ory TR ' o
TET 2| EIT , 38 AT GRT aigHTd "5t F5" 31+t ok O
T gIAT 81 T8 GHT €, TR At i b, T ol I 1| S
g g H, wrer € |y < o ST ot st Himne
HfeTeh T Y Ta TET & ST I o T 21 W H, STt Serst
1 GO B ¥ U8 3o foTeA ol HwTaHT 81 a9 a o
3Tl ferepra, gear 3T ariReerfarehl o5 o ey & fog o
TECYU! G 9T shid & A 38k diigell o Herdl Tl € o6
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the poorest of the poor as well as the very sources of water - rivers,
wetlands and aquifers.
Conflicts might sound bad or negative, but they are logical
developments in the absence of proper democratic, legal and
administrative mechanisms to handle issues at the root of water
conflicts. Part of the problem stems from the specific nature of water,
namely that water is divisible and amenable to sharing; one unit of
water is used by one is a unit denied to others; it has multiple uses
and users and involves resultant trade-offs. Excludability is an
inherent problem and very often exclusion costs involved are very
high: it involves the issue of graded scales and boundaries and need
for evolving a corresponding understanding around them. Finally the
way water is planned, used and managed causes externalities, both
positive and negative, and many of them are unidirectional and
asymmetric.
There is a relatively greater visibility as well as a greater body of
experience in evolving policies, frameworks, legal set-ups and
administrative mechanisms dealing with immobile natural resources,
however contested the space may be Reformist as-well as
revolutionary movements are rooted in issues related todand. Several
political and legal interventions addressing the issue of equity and
societal justice have been attempted. Most countries have gone
through land reforms of one type or another. Issuesirelated to forests
have also generated a body of comprehensive literature on forest
resources and rights. Though conflicts over them have not
necessarily been effectively or adequately resolved, they have
received much more serious attention, have been studied in their own
right and practical as well as theoretical means of dealing with them
have been sought. In Contrast, water conflicts have not received the
same kind of attention.
13) The author’s main objectiveiin writing the passage is to:
a) Showcase government commitment to solve the water

distribution problems

b) » Make a strong case for war as the logical resolution for water
conflicts.
c) Point out the seriousness of the threat posed by unresolved
water conflicts.
d) Describe how the very nature of water contributes to water
struggles.
Passage 6

Technology will shape the way we educate students in the next
decade. A user is not simply a person who uses. For the student,

being a user should involve using the latest technology in a free

HI-HTY I o G - (G, ATRH 3R SITd & g hl
TYTEAT Rl
HE S AT AHRICHE THT Tl &, THoh STt G ol g
T I T o 7T 3Ford AT 4k, ST ST ST
=l STttt § 3 qrfehen forehre €| T o e feear art st
fafire werfr & 3usT 2, sterfq ot fomrsa @ ofR wen =
foTT STt 2; art it Uk geRTS oAl SURINT Ush gahTs g foha
ST & S GOl 2Rl eI SITT & $Heh g SHANT S STl
g 3 3o uftomdt ge-3fte wfie B sfeseor s siafifea
TOET 2 ST TR SHE T STeSshLor AT gt S1foreh areft
. 3a Avfierg ST SCHTTS 1 HEn e g € 3
JTTHITH ek GHT THE foreh (¥ 8t bl ST BId 81 37
T S g " T TS TS STl 2, SEehT ST 3T Jeiem
foRam ST B, I8 HhmIcHeh, 3 THRIcHe SHT a8 & sl
FHTROT T HROT TAT 8, ST 370 T 8 -3 31 srem i
BId gl
ITUETThd -T2k qeIal o |ro-are foenfea Hifo, Faw@rs,
HITAT -3 S o STepfcrer et & e aret s ten
T H I/ T TS e R, BTedifoh T gawaTd &
T & S & ST stider de e & fife ¥
AT ST HHISF = o Te hl Helleid i ol 63
TSIk ST T SEaard o1 ST fora 1T 81 Saferspisr ax
forelt 7 foreft srepm o ifi ol & T &) a1 @ weifera e A
+ft I HETEAT SR SARIEHRT T AT A1fed 1 T §8 IR
fopam R Tretifer 3 9T werst ot g9Telt @ @ 91 st ®9 ¥ '
T fopam T 2, 3 g fe whvfiRar & e faa e g,
o6 0 AR H 1o T € 3 s fued &
STIRTNE 3T Sgifdes |TEMT hl TS sh T8 2] 36 foadia,
STt HEST O 36T e ST e el g R 2
13) uftee fote o Tiaeh o1 Jed 3¢9 o:
a) S foaur g # g FH A 'R f
gfcrergar Jefifd e
b) ST WO o sk HHTU % &9 H I % ¢ T
ST HHET ST
¢) ITYAY S O & I @ak I HufRar v 3
FETN
d) U % Toh ST 3T TeRTd STeT Y H ford T ATTeH
EZGiR
YA 6
TRl ST <9/ | ST b1 Tferd s o ok ol ATHR
S| W SUAITRAT shaet I8 TR T & S SUFNT LT 81 BT
& fTT, Ush SUFITRAT 8 o TTd T FaH dehrieh ol Tda 3R
W allsh T IUANT KT A BT =iy I8 % et
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and autonomous manner. This new-found freedom will allow the
student to become an active participant in his/her education instead
of a passive passenger. In our current technological society, being a
user also means being tracked. Tracking a student means having the
ability to target education towards weaknesses and strengths. The
ability to accurately customize to the individual has been the holy
grail of educational philosophy for many years. This golden age of
technological development may soon enable this dream to become a
reality.
14) What does the author mean by the term “tracking a student”?

a) Analysing the strengths and weaknesses of a student and

designing an educational syllabus accordingly

b) Assessing whether a student is paying due attention to the
existing curriculum offered by an institute of learning
¢) Analysing the positives and negatives of an educational
institute and modifying it suitably to cater to industrial
requirements
d) Following a student to the educational institute that he visits
frequently in order to estimate the time he spends there
15) Raju is a rich banker who takes advantage of covid 19 situation
of his neighbours and charges 50% interest upon the loans. However
he never gets caught because he gives 20% of his total capital (initial
capital + profit) as bribe. If in the beginning of 4th year, he has a
capital of Rs 25,000 to invest, how much bribe did he giveat the end
of the second year?

a) Rs 4,900

b) Rs 5,200

¢) Rs 5,000

d) Rs 6,000
16) A group of péople went for a river rafting and they go 2000 m
against the cutrent of the stream in 60 min and 1000 m along the
current ind10 min. How long will it take for them to cover 5 km in
stationary water?

a) » 45 min

b) 1 hour 15 min

¢) 1hour30 min

d) 1 hour 45 min
17) St. Johns school has 3 classes, X, Y and Z. The strengths of
Classes X, Y and Z are in the ratio 2:3:5 respectively. The average

TITAT BT I Ueh (ISRT AT o SISI 31T X181 | "ishd
WRTIER S o1 STl ot BAN SHM deheiehl SaTt H,
TR B T 37ef 2ok ferarm STHT oft ) Ueh BT ol 3k ot
1 279 B FHHSET SR d1eha F i frem v aAfera @ i
&V BIT| S Teh ohl BETeh ©Y ¥ STIhTCTd S hl &THT g A
4 Sifereh o9 ol qed Tehrae T 2| debitehl ferehmel 261 g Tl
T SIeE B 39 | i HIHR i § Hard & Hohal 2
14) "Ueh BT 1 3o HAT" I8 § <k hT T qTedd 87
a) ek ST Sl dTehd 71T SHHSIET S ST woT ST e
I STTET T RTeTeh TIGashH o s
b) TE ATk HET o FT HIg @ fhelt freror e
ST A HIS[E] T3 TshH W 3fod eI 2 T 8
c) U ST TR o HHRIcHF 3T THEHS HT
Torseoon T 3 g6 ST SATeRaeharatt sl I
L o Tl SR B9 § HRTiferd e
d). Teh B o ST ah'alTe refOreh ST & STt o8 fardme
ITQ EHY <HT STFHT T o6 fore ST

15) TS U SR oL 2 ST 3T weifea i shifars 19 furfa
T AT 3BT & 3T HIT W 50% TS AT 2| BTeAlteh a8 heft
TeS] 81 ST ATk 98 3T el Uit BT 20% (TR ISft
+ W) T o &9 a1 81 A A1 N ohY AT H, Ik I
forerer a6 3 foTe 25,000 TRt b St 2, ot 3o g e o i
T fopat foga &0

a) T 4,900

b) TF 5,200

c) ¥4 5,000

d) ¥ 6,000
16) T 1 Uk THg e Tt o forq marm 3t o ey o feradia
2000 HeX 60 fiFe 7 37T 1000 HieT e/ o |ry 10 e d Sa
21 3¢ Rert e o 5 Toreft ot ot o/ ot # ot ey e

a) 45fe

b) 115 fme

¢) 1%e30 e

d) 17%r45 e
17) ¥e S8 Thet § 3 FaaTd X, Y 3R Z 8 Fafr X, Y 3R Z
o1 &FHAT UM 2: 3: 5 o STIUTT H Bl HEAT Y Hl HAd 3k
HETT Z o AEd 375 U 16 3Tk 31 eaT X IR heaT Z o 3iea
% o= T SFA FTd R A o =61 ftaa 37 wem X &

score of Class Y is 16 more than the average score of class Z. Find 3T TH T 2 FH
the difference between averages of class X and class Z if the average a) 10.2
score of the school is 2 less than the average score of Class X. b) 9.5
a) 10.2 c) 7.8
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b) 9.5 d) 8.5

o 78 18) we Fifre v § we fafire o7 grar 81 @ g de 13 %
d 8.5 37eh! ol IoTed & df HEAT 18 91 STt 81 fohaT 3777 a1 3iehi Y

18) A certain number has a specific property. The number increases
by 18 when we reverse the digits of the number 13. How many other
two digit numbers increases by 18 when their digits are reversed?

a) 5

b) 6

c) 7

d 9
19) In a certain code language, ‘CMJOK’ is coded as '83' and
‘QUSTEF’ is coded as '52'. How will ‘EIQST’ be coded as in that
language?

a) 65

b) 71

c) 64

d) 76
20) There are four towns P, Q, R and T. Q is to the south-west of P,
R is to the east of Q and south-east of P, and T is to the northrof R in
line with QP. In which direction of P is T located?

a) South east

b) North

¢) North east

d) East
21) A group of nine friends went to a hotel for a buffet lunch. Eight
of them spent Rs 150 each on their lunch and the ninth spent Rs 56
more than the average expenditure of all'the nine. What was the total
money spent by them?

a) Rs1152

b) Rs 1413

¢) Rs 1190

d) Rs 1205
Directions for the following two questions: Study the following
two questions and mark whether it can be answered with the given
statements.
22) Question: Amesha sold a card and makes 20% profit out of it,
how much profit she actually earned?
Statements

1. Difference between cost price of card and selling price of

card is Rs 40
2. Selling price of card is 120% of cost price of card

Choose the correct code

TEATY 18 U ¢ STl & 51a 3eh 3ieh 3o fu ST &2

a) 5

b) 6

c) 7

d) 9
19) sk T2 e Wi H, 'CMIOK! i 837 T 'QUSTF' &t
‘52, % &Y U =hifed fham 7T 8| 6T 9T F 'BIQST' &l foha
YRR shifed foram sam?

a) 65

b) 71

c) 64

d) 76
20) IR I P, Q, R 3T & Q, Phfemurufdmig R, Q&
T 3 8 SAILP o M08 7 8, 3R T, QP % &Y R & I H
B P foper famm o T o 82

a) E'F?ﬂ‘JTtljf

c) B?F(‘:Iff

d =
21) =t SR T T TS o el o [oT8 Tk Beet | 1Tl S &
TS 7 Y IR & WISH W 150 T T (6T 3R g 7 aeft
it 3 Sierd T A 56 T 3Areh @ RT3k g @ o TS
e THRT feberHT off?

a) T 1152

b) T 1413

c) FA 1190

d) ¥ 1205
fFrafefaa & wort & fou Fdw:fmafafaa 3 v =
31 i i Fafeea i fo6 . suenr 3w few o st @
e ST AT 2.
22) 9: STHINT 7 T FHIE =T 3R AW ¥ 20% T AN
fora, 3u areqe o TeramT @y SAfSia femam?
FHU

1. TS o 3 T I HTS o [oIshad {ed o st T ST

40T

2. TS T [oI5ha T IS % TN 0o H1 120% &
T RS T

a) T T I halel e [ <l T=TFar § & St Tkt 2

b) T T I haed he 11 ot TeTIdT ¥ oo S wehar

g
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a) The question can be answered with the help of statement I c) 94 T I & o AT Y [ 3T A 11 ST ot
alone ST &

b) The question can be answered with the help of statement 11 d) ST AT ST TRt & ot 32 ST ST T fear S
alone SETS N

¢) Both, statement I and statement II are needed to answer the | 23) I9: W, M, V,N, Q, R, 3T J 91 AW R W@Tﬁtﬂw
question TG AT R?

d) The question cannot be answered even with the help of EE)

both the statements
23) Question: There are seven letters W, M, V, N, Q, R, and J. what
the fifth letter from the left end is?
Statements

1. Q is placed fifth to the right of V. W and J is not placed
immediately next to either Q or V. Q is placed to the
immediate left of R

2. M is placed to the immediate left of W but is not an
immediate neighbour of N is placed second to the left of R

Choose the correct code

a) The question can be answered by using one of the
statements alone, but cannot be answered using the-other
statement alone.

b) The question can be answered by using either statement
alone.

c) The question can be answered by using both statements
together, but cannot be answered using either statement
alone.

d) The question cannot be answered even by using both
statements together

24) The elasticity of a Basketball is amultiple of amount of materials
P, q, I, s used. If the amount of material of p, q, r, s are changed by
+30%, -30%, -25%, +25% tespectively, what will be the overall
change in elasticity of a Basketball?

a) No Change

by +14.68%

¢) »—14.68%

d) Depends on the initial amount of p, g, r and s

Directions for the following two questions: Study the problem
statement given below and answer the items that follow

Eight persons — Akash, Bharathi, Chitra, Dhanu, Eshwar, Fahad,
Geetha, and Harish are seated around a circular table such that only
three of them are facing away from the centre and the rest are facing
towards the centre (not necessarily in the same order).

Akash sits second to the left of Chitra. Bharathi is not an immediate

neighbour of both Chitra and Akash. One of the immediate

1. QI V& e ¥ e LI T @I TR =l W 3T J =t
Q ATV & ek sTeT U el TR RI Q, R % ik a8’
3T TG T R
2. M@ W & e [T T ddfhraae Q 1 fHehean
TSIET T 81 N R o 2 H g8l S W 2
EEEACEE]

a) T T ST ShaoT U Teh ol SUTNT ek 42T ST
HHAT &, Aok STt GHL He T ITANT FHeh I
Tt feam S aeRar 2
T3] T ST 3Tohed Terddl oft e oht ST o feam
ST FehdT 21
S ARUT T Ueh T SUANT hleh T T 3T f&m s
HehaT ®, AT 37ahet foRE) Teh U hT TN hish
IR T fear St wehar R
ST HUFT T Teh T T i qX ot 55 T I A=l
fear st gepaT @
24)Wﬂaﬁﬁ€f€mﬁp,q,r,sﬁmm$f@w%|
IS p, q, 1, s 3T ATHHT T AFT SHHIT: +30%, -30%, -25%,
+25% SIEe &1 ST &, T STRehasiiel shl ofel o THI i &
B

a)

b)

b)

d)

1S g T2l 8T 8
+14.68%

c) —14.68%

d) p, q, r 3 s i gk AT o Feft st @
FreaferRaa 2 went & foru fcen: e few o aweaT wem
T 7eTa ol 3T Fferfaa gt s s e
T JATHRR B o IR 3T 36 YR 1S & fob 398 & haet oA
1 T 3 o i 2 7R S 1 g 3 A TR (S A
foh wek €1 5hm 20
TR, o o ST W gE TAM W SaT ) A, e i
TR G T ke TSIE et 7. o o fehean veifemn
T Y T T for o o o o 21 s, AT o o 9
TG T T 13T 2| Hed BT oh Sl & UL T 0 3T 21 o]
I o frehea™ Trelt 7 @, TiiaT e o oI @ dTe T
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neighbours of Chitra faces opposite direction of Chitra. Harish sits
third to the left of Akash. Fahad sits second to the left of Harish.
Dhanu is not an immediate neighbour of Bharathi. Geetha sits third
to the left of Dhanu. Eshwar and Bharathi face the same direction as
Dhanu faces. Bharathi doesn’t sit opposite to both Chitra and Akash.
25) Who among the following sits second to the right of Fahad?

a) Akash

b) Harish

¢) Dhanu

d) Geetha
26) If all the persons are made to sit according to their names appear
in dictionary in clockwise direction starting from A, then position of
how many person(s) will remain unchanged excluding A?

a) 0

b) 1

c) 2

d 3
27) The present age of Mohnish is 3 years more than three times the
age of his nephew. Three years hence, Mohnish's age will be:10.years
more than twice the age of the nephew. What is Mohnish's present
age?

a)

b)

c)

d) 39 years
28) What least value should be replaced by # in 223#431 so the
number become divisible by:9?

a) 3

b) 4

c) 5

d 6
29) Roja was given an arithmetic problem to solve consisting of four

36 years
38 years
33 years

numbers(consider a, b, ¢, and’d) and she figures that the largest
average of some three of these four numbers is 40 and the smallest
average of some three of these four numbers is 30. What is the range
of values the average of all 4 numbers can take?

a) 28.5t032.5

b) 32.5t037.5

c) 30.5to034.5

d) 31.5t039.5
30) Arjun bought a new watch for his birthday and later he found

that his watch gains 5 seconds in 3 minutes and was set right at 8

F3t 21 T 3T ARt b1 g el fommr oY o7 B Sm e o
1 @ 2| T FrT S SATHRT G o foodia T&Y 3t 2
25) TreAfifiaa H @ %4 wee o 2T | g T TS 87

a) JTRRT

b) &

c) 3

d) e
26) afe axft TRt T 3Tk 7T o STTHR ST STl &,
A ¥ Y& SR afomterd fe # Sreashien shE # fowrs a0 €, @
A 1 Sreeht feora safera st el sraftatad @t

a) 0

b) 1

c) 2

d) 3
27) AIRHIT T STHI, AT J8eh TS T 3T o6 o AT 6 3
Y HAfereh 8| A W ST, HigH1eT shi SR WIS Al 3T 6 I
¥ 10 - 3Ffereh BTl HeHter shi e 37 T 2?2

a) 3698

b) 3898

c) 3399

d) 3999
28) 223#431 W # § Tor® =I7aH I i STqeTiua foram S
=R dfeh T 9 & forvrear 81 Se?

a) 3

b) 4

c) 5

d) 6
29) ST ! TR GEITST (U, sft, T 3T 0 fomm i) & firetet
A L o ToTT Ueh Sprioreiiar Tmen & 718 off ofit e st @
o 3 A HEATST § € 5 A1 o1 Hed ST 316 40 § S
TR s § ¥ FS A A waw BreT e g 30 3wt 4
T3 o1 Sfrad fohaT AT 8 TehaT 22

a) 28.5¥32.5

b) 32.5¥37.5

¢) 30.5834.5

d) 31.59395
30) I A A ST % T T 8 TSt Tl SR e
39 U {5 Sueht w3 fie § 5 Aehe 3T o1g St ® 37
HeTe 8 oIt 3ok U &1 S ol Al I8 3¢l T St d 5:15 a1
feamar 2, 1 SHeht o<l 1 el THg = R?

a) 5pm

b) 6 pm

<)

11 am
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AM. If it shows 5:15 in the afternoon on the same day, what is the
correct time on his watch?
a) S5pm
b) 6 pm
c)
d) 4pm
31) If 15 March 1861 was Friday, what day of the week would 15"
April 1961 would be?
a)
b)

11 am

Monday
Wednesday

¢) Thursday

d) Saturday
32) Sharmila have a few blankets to be distributed for the people
affected by cyclone Ocki. If she keeps 2, 3 or 4 in a pack, she is left
with one blanket. If she keeps 5 in a pack, she is left with none. What
is the minimum number of blankets she has to pack and distribute?

a) 25

b) 37

c) 24

d) 65
Direction for the following 7 (seven) items:
Read the following six passages and answer the items that follow.
Your answer to these items should be based on thepassages only
Passage 1
The major ground for rejecting the fusion of political and communal
aspirations seems to be the physical dangers to which this exposes
the citizens of a country unlike political appeals to class factors,
political appeals to communal, questions are much more concrete,
precise and emotion charged since they, involve intimate and
personal sentiments. The language issue, for instance, can never be
an abstract isstie to any citizen in\a country relative, say, to the issue
of social welfare, poverty eradication, or expansion of educational
opportunities.
Politicians in their quest for power can escalate such emotions to a
frenzy of ill feeling among the communities. Moreover, members of
communal groups and their neighbourhoods are easily identifiable
and can become easy targets of attack. The norms of civilised
governments cannot allow the rioting, looting and killing, which is a
normal consequence of communalism which seeks power. Hence, in
one way or other a lid is sought to be put on communal politics.
However, it would be well for political leaders, public administrators
and researchers to recognise community based political aspirations

for what they are rather than to merely condemn them with value

d) 4pm
31)3fe 15 AT 1861 i TEHATL AT, AT 15 1A 1961 i GH1E
1 hH-a1 fog Brm?

a) AHaR

b) FEAR

¢) T&AR

d) wifHam
32) STt & U <rshard 3fishl & Tarfera et & forg &1ie s
AT 5 et §| I I8 Toh ek H 24 3304 T &, ol 380
UTH 1 eI T8 SITT 2| 3T 98 Ueh 9ok § 5 Tadl &, a1 36k u1e
TS Tl T 2| I HH 63 fohe shaie] deh ahteh die 82

a) 25

b) 37

c) 24

d) 65
FrafeRaa 7 (@) waies oo o
frfaRad B8 aieeal ol afeT 7R 36k a1g T aTel Wi o
ST 37 5307 o TIU ST19eRT ST Shelet Uil W AT
HEIEIEY
T 1
TS Tereh 3T TR STThTeTTAl & GeAd ohl QST i ol
TG AR Hifdes @at wdid e 8, e ag el oo
TATTIERT okt a7 IRl o fTT Tt faeh e & faedia s
AT 2, AITRTRI ST o T Tsifren Tiier siga e 3,
Tk ST ATaATST T STRIT ST ST & SFT(eh o AT 3T
ST HTSTSHT hT I L & SSTETT o ToTT, TS T 7,
forel 2w & forelt =afer o fotw, S, amfSis eamon, wWish
S, AT e SFaEl o foed) o 7, 7, Ft off T A
e el €l Hehl 2
T 26T AT H TSHAT $H e shl |11 bl T o st
QU HISHT o IHIE H FGT Hohd &1 3Heh 3T, WICTRR
TR 7R 3% TSI o FEET ST & &= ST #hd & 31
T % ST & S bl 8| T THRT o HHEE S, FEITE
HIT g <l Al TeT < Heohd, ST Gl ohl TR L Al
AIYETRIRdT T Teh T INUTH 2| ATt AiveTies TsHifd
ot Tt 7 foreft aig @ vet e it snifsrer fY ST R
BT o, T AT, Tieh TSHeht I Seshatel & fag
IE BT TN foh of WHETT TN TSiI{deh SATeRTET ht
T foh o T 8, 7 b vt et T frvoter 3 wmer 3eht
F| Y T § T TR & T I8 waiy ® fF 9w
TSIl 301 38 WA o6 TR TR @IS < (S8 I8 3 9
T T ST & ST TS T T A 8l FIe At ot
e % T HIACT o SR & AR fofa i1 et 2

KUMAR’S IAS
Contact Number: +91-7078888888, Mail I’d: kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

loaded judgement. Clearly it is sufficient for civilised governments
to reject communal politics on grounds of the danger to which it
exposes the communities which constitute the nation. Efficient
policy decision can be formulated only on the basis of a clear
recognition of issues.
33) Why do politicians feel interested in exploiting religion for
serving their political ends?
a)
b)

Because they are biased against other religions

Because politicians can serve their interest better under the
garb of constitutional guarantee for religious freedom

c) Because politicians find it easier to gain the sympathy of
their coreligionists

d) Because religious sentiments are deeply rooted and are
highly emotionally charged even at the personal level
Passage 2

By 28 February the spectre of capturing major cities of Ukraine with
large populations — Kyiv with 30 lakh, Kharkiv with 10.4 lakh,
Mariupol with 4 lakh, and Kherson with 3 lakh — to achieve its
political and military aims, was looming large on the Russianarmy,
which is fighting its first major war since 1945. Plan A'— to capture
Kyiv with “shock and awe” — has failed and it has been forced-to
regroup after 96 hours to begin executing_ deliberate operations
through Plan B. Russian forces are now poised.to storm Kyiv;
Kharkiv, Mariupol and Kherson.

Russia’s political aim is driven both, by insecurity due to the
likelihood of expansion of NATO  (North Atlantic Treaty
Organisation) to include Ukraine and by irredentism because it does
not consider Ukraine tor be an independent nation but a part of
Russia’s civilisational culture. Its short-term political aim is to bring
about a regime_Change in Ukrainey by, installing a pro-Russian
government. Its long-term political aim is to make Ukraine a part of
Russia or.the neo-Russian federation.

Russia’s military aim 1is to-disarm/destroy Ukraine’s army and
resistance movement to facilitate regime change and establish
control over the entire country to achieve its long-term aim in due
course. Its initial military strategy was to launch a multi-pronged
offensive from) the north, east and south at a very high tempo to
isolate/invest/capture Kyiv, Kharkiv, Mariupol and Kherson. The
aim was to bring about psychological political/military collapse to
force capitulation.

34) Which of the following is the most logical corollary that can be

drawn from the passage?

33) TSI 3T TSIk SETT 31 gl o 118, I 31 G1e il
4 B Al HEqH A &7

a) TR of GE Gt o fdl TeraTdt &

b) AT TSHaT efHies T ht Haemaer TS i
3MTe § 79 il Y SIgaw AT T Hehd &
TR TSTHATS! 3hi ST hgTd fra ohl TRt fer BTRreT
AT STTEM T ]
FifeR efifer WTaTaAl il STE g Ted At & IR
ST T T ot AT B W AT AT
Bt &
AT 2
28 TTEH o Fohe o S19 ITEX! GLehsSTT A o1 ¥d - 30 TG %
|1y i, 10.4 TG % WY Wiiend, 4 ARG % |1 ARG,
3R 3 AT A GEA - 379 TsHIfereh 3T &= g9t i
ITH S o foTw, T6ft 8T I TR U T AT, S 1945 F 9 ¥
T IEAT TST T5 1S Tel ol ASHT A - "SR ey e
I YL FhosTT i o AT - forhet 21 T @ TR AT B o Are
ST G I i o T 96 5 % 18 ot & &rfed
B ok, foTe Fete foram T 21 w6l B SR o1 fiw, @,
TR ST ST § T A1 hl STeT 2
5, T IMTHT e o o 1T (It Sreatifesh |ier wma) &
TOREQTE 31 ETAIT o SHTX0T 8 3T TSI Tcleh 3833 STERET | i
2 I ST iTeRaT & TR T8 b T Toh T g e afedh
4 T TYIAT I T Th [T HAT 2| FEehT SITTRICTh
TSI 3e3d Yohe H Uoh ST Areleh TTehT ST ohleh SMTa
T TG AT 2| SHHT AEHITTh TS 3e3 Tehel bl &6
T 79-FHT E R AT ST R
T 1 T I bl ol T SR il sidier bt e
AT 8 1Tk I TIET bl YT S ST Heh 3 i s
T 370 dEfehTfore T T A & forg g a9 W feE
Ty fora ST Tk SHehl IR 8= WHIT e, @i,
TR 3R W T T2/ HeR/aesT Fd & g
I, o A 301 W Uk g & Iod M W Tk g
HTHHOT & AT AT SHRT L3 STCHAH o6 FoTT Hef LA
& foru T TR &= e @ ol
34) frefaRad & & 9 91 G difhes aitomm 2 58 e &
frenTeT T wehar 82

a) a2 I8 & fop &l gl o @ wmifaa € & €, 7 e

b) =ifeh TF T RIS G T Socie [T &, TR

I 35T e T O ISl g
c) UET orTar @ foF ww A deentfer gff T | w4
U TR TATUT ek MG § ST AT &

¢)

d)
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a) The fact that Russian forces are regrouping says that both its
plans have failed
b) Since Russia has violated International conventions India
has abstained from supporting it
¢) Russia’s long term vision seems to be to bring about a
regime change in Ukraine by installing a pro-Russian
government
d) Russia’s war on Ukraine can be attributed to the fact that it
considers Ukraine to be part of Russia’s civilisational
culture.
Passage 3
Education, without a doubt, has an important functional,

instrumental and utilitarian dimension. This is revealed when one
asks questions such as 'what is the purpose of education?' The
Solutions, too often, are 'to acquire qualifications for
employment/upward mobility', 'wider/higher (in terms of income)
opportunities', and 'to meet the needs for trained human power in
diverse field for national development'. But in its deepest sense
education is not instrumentalist. That is to say, it is not to bejustified
outside of itself because it leads to the acquisition of formal skills or
of certain desired psychological — social attributes. It must:be
respected in itself. Education is thus not a commodity to be acquired
or possessed and then used, but a process of inestimable importance
to individuals and society, although it can and dees have enormous
use value. Education then, is a process of expansion/and conversion,
not in the sense of conversion turning students ‘into doctors or
engineers, but the widening and turning out, of the mind — the
creation, sustenance and.development.of self-critical awareness and
independence of thought.lt is an inner process of moral-intellectual
development.
35) What do” you, understand' by the 'instrumentalist' view of
education?
a)
b)
¢)
d)

Passage 4

Education is functional'and utilitarian in its purposes.
Education is meant to fulfil human needs
The purpose of education is to train the human intellect

Education is meant to achieve moral development

China’s falling birth rate has had many policymakers worried for
some time, but a recent report reveals the rising monetary cost of
raising a family. In April 2021, China formally ended the two-child
limit to spur population growth and tackle the declining fertility rate
with a three-child policy.

d) Iohd T EE % FE I 39 A o [T SHIER 8T
ST HehT @ o6 98 IohT 1 &6 ol TSI Al
fewaT AaT ®

T8 3

fredice fen &1 ©F "wecaqul s, WEEE SR
STNTIATETE TR | A8 e UaT Jefdl € <ia hig "TTelT ot
SeYd T R S IY gl 8| WHIIH, IR, USISE
Tfefictar & foTe T aifier ST, =ade/3<a (T &
T ) ST, 3T Ui foshm o fera fafarer &= o wfifara
T 1fh 3l STl b1 O ' o6 o BT & lfhet 37 T
1ol & f3rear reraTdl/ aemeTee T 81,5e a1 areqd a8 B R
T IO I e 3 6l ST SIHT =M1eT Ffoh I8
HIT=TIE, RIRT AT F S HATF oh-ETHTIST forRTyarat
o STTEIROT 3T X o ST 2| AT ST 71T H FWIH ST
R 58 Yo fRrean ahrs Uh sreq et @ T i fofa g
T heslT TohaT ST, 37T T ST foharm ST, sifesh saftRat 31T
HUTSL % {U ST Heed i TR 2, BTeifen et st
ST 7 & Wehdll € 31 Bl 8 e qer foreame A wiawor
T Tk TR R, ST S ol Sl AT SST-adl 8§ sigei o 379
T Tl &, fceh T it =l T21 i ST SATH-SATA=HTcHS
STREehaT ST far=Imt shl Ted=rar o1 fHtor, Treor 37 foemma v
F foru 2 | 7% Afen-siifge fommma it u it afrar 21
35) fa1eqT o ATEraTEe' gfERIOT T 31T T THEd 82

a) T3TeTT 7o el o At ST SUAfaTETet 2

b) fRrear ATa i ST 1 O A o U ®

c) TRreT i SeT ATE g T ARITETT AT ©

d) furen Afaer form A T FA F g

IOt 4

=i i et st ax 3 3 +fifar Fmtarett =1 3o T & fag
fifera s fea 2, wifsr wen erforan Raié & var <rerdr & o saeh
1% HROT TRER T ITA=-T907 i T gt Hifseh a2l
I 2021 H, = 7 SN €9 8 SHEEAT Jhg, I T@ra
T I i STt <l Aife 3 @rer st useE e fues & forg
3T STt sh HHT =T TuTe L feam)

T 2021 H Fd TR W 0.34 frerd sht et gie 3t i,
ST 1.11 wfcrera sh et 2, ST Q9T <l 3TeT e Y Ter hH &t bt
TS SHEET JE 81 2021 F, = T See 10.62 e s
2T gL, ST 2020 § 1.2 U s=al 6l o1 | 11.5 ferwrd 7
Bl AR SHEAT & Gelfod Ush 3T 3TereT fSem == o @t
=1 feifaa foram 2, 9% 2 aitEm o qTeM-aieer i SAeEe St
AT, ST 37T SARTCHRT, e, SHAT 3T ST § 376 ara &
My 2
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China recorded a population growth of 0.34 per cent per one
thousand in 2021, a decrease of 1.11 per cent, which is the country’s
lowest ever recorded population growth. In 2021, only 10.62 million
babies were born in China, an 11.5 per cent drop from 12 million
babies in 2020. But another population-related figure that has people
in China worried is the skyrocketing cost of raising a family, which
is now higher than the average cost in the US, France, Germany, and
Japan.
A report published by Beijing-based YuWa Population Research
Institute says, on average, it costs $76,760 to raise a child in China,
including everything from pregnancy-related costs to tuition fees.
The study said the cost in cities could be more than double at
6,30,000 yuan ($99,666) than in rural areas at 3,00,000 yuan
($47,460). Raising a child in Beijing or Shanghai can cost a family
as much as one million yuan ($158,413).
The hashtag “China Fertility Cost Report 2022 Edition” was viewed
58.61 million times on Weibo, the Chinese equivalent of Twitter.
The hashtag: “It takes 6,27,000 to raise a child until graduation from
college” began trending after the report was published,-and was
viewed 1.8 million times. The Chinese government«s concerned
because it affects the long-term demographic distribution of China’s
workforce and could impact economic productivity.
36) Which of the following best summarises the arguments made in
the passage?
a) It makes a case for rising cost of raising kids in China while
highlighting the declining birth rate
b) It compares the costof rising kid.in China with rest of Asian
economies
c) It gives a broad overview. about the three child policy of
china and’its intended consequences on the economy
d) It provides.the rising cost of’education in China and the
measures to overcome it
37) Which of the followingis-true in context of the passage?
1. » Raising a child in Urban areas is doubly expensive than rural
areas in China
2. China has recorded lowest ever population growth in the
recent times
3. Rising cost of raising a child in China has least impact on
the working of the government
Choose the correct code
a) 1and3 only
b) 2 only
¢) 2and 3 only

SffSiT ord e diqets o $&iede SR WehiRid U e
T heT T © TR = 1 e o= ol Ut | 3EaT 76,760 SieR
1 G ST &, TSTaH e | e anTd | A e
I T Tl 5 MU 2| ST 1 el 7T 8 fof w1t § amra
TTEioT &A1 ST 3,00,000 J3H (47,460) T T H 6,30,000
T3 (99,666) T ST & ATereh &1 Wt 2l STSHT am 3Permg
T U oo shl WANRRT F T T THER i 6 A1 I
($158,413) T T AT IS HehelT 2
et o =T Hwehe dTell TT eI AT BicioTe] shiee [H1e
2022 Tfewm" 1 58.61 i SR <@ mm ¥ "o o
T B d% T sTeeh ] e | '6,27,000 oTd 8" s
TR B % o1e ¢8 HA P gAT, R 34 1.8 ffers s
<@ | =i wer Mifad § il a8 o % FEied &
SefenTicTen SHETREHIT Torawor shi TTferd htd) & it amfien
IeqTEehdT ohl THTIo ST Tehl 2
36) Frfetad & & 19 &1 Terier § U e aent sl g =T
AT 31, St 22

a) T HAl STH T 1 IMR L gY <A | sredl hl
TANET < gl AT T AT SHIAT &
T2 Y TRETE rdegereral & a1y = § sad s
T AT 3hi T LT &
T <1 Sl of i ot e 37T srefeeen W 35 3ad
GRCOTTHT o ST H Ueh o419 3Tdailehd a1 &
1 =fi H fRrem shi st <Td SR 58 g oht o 3T
e AT 8
37) uitesg o de o f=fctfiga o & & |1 gea 27

1. =1 o TTHIT TR 2T T H Tedl SeATeh! | el 3t

2. < BT o fol § e vH SHEE Ifg a5 o 7

3. = U s il Walkar it agdl AN T TER F

SRS I O HH WIS TSl &

TE S I

a) ad 1 33

b) had 2

¢) HAA2 I3

d) a1 32
9w 5
&Y I G TS WHI e HASIIET § 8 Tsh BT &1 H Teh AT
T e 1T 2| STereiTy Uierd Her ol ARkl o el H AT geht
GhdT 2| Y IeuTe - THORFTG &9 8 Tk Tar & oo &4 3
T S, FET-Ja0T Y fiy sht T Tqorarn o T e
wraEi fora & - Tt weh quren | 3oTet 31T B % Hea U €,
it Ere fafd o wwa @ e iR weAifd & g o

b)

¢)

d)
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d) 1and?2 only
Passage 5
One of Russia’s greatest strategic weaknesses has recently turned
into an advantage. Climate change may tilt the balance further in
Moscow’s favor. Farm production — traditionally an area in which
Russia has underperformed due to the low quality of its frigid,
drought-prone agricultural land — has boomed over the past decade.
That’s important, because food exports have long been a crucial
contributor to security and diplomacy, and one in which the amply
fed U.S. and European Union have an inbuilt advantage. Even if
President Vladimir Putin is found to have overplayed a weak hand in
his invasion of Ukraine, food is one area where Russia’s sway is set
to increase rather than deteriorate in the coming decades.
The Soviet Union rose and fell because of grain. The collapse in farm
production during World War One, as conscription turned more than
10 million peasants from food producers into consumers, led to years
of food riots culminating in the revolutions of 1917.
Collectivization and the brutal famine that killed around 4 million
Ukrainians in the 1930s saw agricultural output stagnate, tothe. point
where, by the 1970s, the U.S.S.R. was importing an unprecedented
amount of grain. Moscow’s inability to pay for its cereal purchases
when the mid-1980s oil price collapse reduced the value of its
petroleum exports was a major factor in' the. fall of Soviet
communism, amid rationing and renewed fears of starvation.
38) Which of the following is the most logical corollary that can be
drawn from the passage?

a) Climate change has.been the tough nut to crack for the

Russian economy in the recent years

b) Farm production, is traditionally. the over performing
segment.Of Russian ‘economy, which has financed most of
Russian wars

c) Stagnation in the food production has been largely linked to
the fall of Sovict union

d) » Arms exports have long been a crucial contributor to
security and diplomacy of Russia

Passage 6

When I say that priesthood is an evil in religion, I do not mean that
priests are evil. There is a mistaken notion even among those who
should know better that an institution that is evil is evil because the
persons involved in it are evil. Mediation between God and man
itself cannot be safely entrusted to humans. This is my contention

and it has time and again been proved in the course of history, not

YU AR (8T &, HI T S 3,04, 3 0T
1 Teh HAdTTed AT 8] et & Tega il sATIQHIT qfc + Iord W
I HTHAT § Th FHASIR &1 hi iRt TS 21, ofisH T
T 851 & STRT 3T ATl SYh! § & I SIASTe 5 % a5
EEEEAN RIS
TS o FHT0T AT T T IcT ST Ia g1l o faa I
o R Y Scured # firrae, s/a 3ifamd weff = 10 fafere= &
ATrep TSRETAT SRl T ScaTEehl & STThTRAT | sIet o=, ek
0T 1917 ShT ShifT 6T el &ril 5 HHIo 3]
1930 o 3T H AHSehIRTIT 3T 5T 11t = errvirt 4 e
Fohi-12 <1 I STAT, it AT i I foig deh o =t fem,
T8, 1970 % 3T doh, JUHCHSAR, T FAYAd AT H ST
T STTATA SR TET AT 19803 53Tk o Ted H ST ot shi shimai
T FRTee o RO AT A 1 @8 6 T Pam i §
TR ST STETFAT o 37 U2 et et 3 e ot e o e,
a, TR 3T Al o AU S o st Alferd qreaTe o oo §
T I 0 )
38) Feferfaa & & o6 a1 we drfehen aftomm @ o werisr &
IREISIRSIESE IR
a) B o i H Tl AT % [T ey aiaa
Teh SIfee e T2
b) Y IUTEH WHATT €Y § Tl ST/ 1 3frHh
YR A AT TS § o At w6 IS A
IESEIEGAERIN
¢) NI 3cUTET | 38U I 88 dh GIfIdd T o Ua
YIS EATR
d) w9 s G AR FeAfd § FER 5 Fafd 1 o
T Y HEeEY ATEH W R
T 6
Tel H el g fo o § URIfeed T S @, o 5 Heerd Ie el
2 o TR oL 21 37 @t o sfter +ff O Tt o @ e e
STt safh S §) TRl ST ST AT o sfte HeredT shl guierd
T & AT bl T T ST HRT 2| 78 H b @ 31 I 3
o SN TR FIfed g3AT 8, T shaet AW AR o {ofu, aifesh
QI o oI +ff, TSieh et g, forehed 2l €, o 379 ot e
T GERINT L Hhl &
39) U6 H qA-9E &
a) IJHH (Judgmental)
b) @E(Regret)
¢) o9 (Defensive)
d) NI (Critical)
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only to the detriment of the common people, but also to that of the
priests, who, having no option open, may misuse their sacred office.
39) The tone in the passage is:
a)
b)
¢) Defensive
d) Critical
40) A group of friends sit to play a game of cards. They select a deck

Judgmental

Regret

of 5 cards (each carrying a distinct number from 6 to 10) to play and
is shuffled thoroughly. Two cards are then removed one at time from
the deck. What is the probability that the two cards are selected with
the number on the first card being one higher than the number on the
second card?

a) 1/5

b) 1/4

c) 2/5

d) 3/5
41) In an MBA entrance examination, 44% of the students failed in
quants and 32% failed in reasoning. If 30% of the students-failed in
both the topics, then find the percentage of students who passed in
both the topics.

a) 40%

b) 42%

c) 54%

d) 46%
42) An Astrologer has 2 parrots with him which tells the fortune of
a person. Parrot 1 speaks truth in 75% of casesiand Parrot 2 in 80%
of cases. In what percentage of cases are they likely to contradict
each other, narrating the same incident?

a) 25%

b) 30%

c) 35%

dy 40%
43) Raju sells car batteries in the streets of KR circle. Due to recent
shortfall'in the supply of car batteries, he doubles his selling price
despite the cost price remains same for him due to a fixed price
contract. He realizes that his profit has tripled. Find the original profit

40) ST T T TR TR ol Wl Wt o 1018 a2l F T
o TTq 5 o=l 1 T S A0 & (A H 6 W 10 T N Th
AT TEAT Bl B) I 3= qTE W Steleet foharm s 21 fibe
o U Uah S H g hIS [HehTel SITd 2| 39 ST <hl 9T JTiehdT &
o6 21 1€ 9 0 & o v 1S o He qE IS o He
T T AR 27

a) 1/5

b) 1/4

c) 2/5

d) 3/5
41) T THSAT STorT oRten H, 44% STHFACH ST 5T 3R
329% Ot H srgeiol gul Ffen30% feremeff ST foreri |
STAOT SLSG. &, T G forat  Jeftor e et feremefalt a6t
BIRNGEIGEIE

a) 40%

by 42%

¢)54%

d) 46%
42) T SAIAST 3 918 2 Id 81 & S ATk 1 9 9dTd @l
TRAT AT 75% HTHE H & siletell & 3T drdr 80% ATt
T U9 sierdr 81 fera wfderd amaet § F T € T 1 gl
Xl EC UH-GEL 1 TS L hl I TEd 87

a) 25%

b) 30%

c) 35%

d) 40%
43) TS 3R Fohel 31 Tl 5 L sl ST 8l TR S
T AT § BTt &1 H HHT oh 10T, I8 T I3 7o 3T
T AT e HHI L& o SlTas[e 310 forsha qe bl &
AT 81 I TAT S & T IEeT AT 1 AT &1 T 2| A
AT JceTd T

a) 200/3%

b) 100%

c) 120%

d) 105%(1/3)%
44) U FHEATAT T 80 TSIUZ & S 3 TTHT-STAHT HTHIST
(3T, HTRe TR TfET) ST 81 T TIuset 9 |

percent. | VTN ST 81 AfE 65 UL & SIS ST 2, 60 S
a) 200/3% HeTRe ST & 3R 55 ST R fer ST €, ab it areet ot st
b) 100% AT TSR bl =IFH HAT T & T 82
) 120% a) 15
d) 105%(1/3)% b) 30
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44) An office has 80 typewriters who know 3 different languages c) 20
(English, Mandarin and Spanish). Each typewriter knows at least 1 d) 40
language. If there are 65 typewriters who knows English, 60 who | 45) 3T T ekl TEAT & ShAT: 30% 3R 37% W & EGI
knows Mandarin and 55 who knows Spanish, what can be the T Yeed! e o fohdw gfdera &9 22
minimum number of typewriters who knows all the three languages? a) 7%

a) 15 b) 9%

b) 30 c) 12%

¢ 20 d) 10%

d) 40 46) 5 ST 6 Toh TIE hT ST I 20 3 &) ATS Fard 1S

45) Two numbers are less than third number by 30% and 37%
respectively. How much percent is the second number less than by
the first?

a) 7%

b) 9%

c) 12%

d) 10%
46) The average age of a family of 5 members is 20 years. If the age
of the youngest member be 10 years then what was the average age
of the family at the time of the birth of the youngest member?

a)

b)

¢)

d) 12.5 years
47) If the 10th term of an A.P. is 47 and its first term is 2, find the
sum of its first 15 terms.

a) 444

b) 555

c) 656

d) 775
48) Pratyush embarks on a,cycling, journey from Bangalore to

13 years
13.5 years
14.5 years

Mysore and he travels 20 km a day uniformly. John starts from the
same point peter started after three days. He travels at a speed of 15
km a day on the first day, at-19 km a day of the second day and so
on‘following an arithmetic progression. In how many days will he
catch up with Pratyush?
a)
b)
c) 8days
d) 10 days
49) Gaurish decides to sell off 100 floor mats a week at a selling

7 days
9 days

price of Rs. 150 each. For each 4% rise in the selling price he sells 3

less floor mats a week. If the selling price of each floor mat is Rs x,

TR T AT 10 Y & Al T DI HGH o SIH o T TR
B ICCE IR ER IRV

a) 1399

b) 13534

¢) 14539

d) 1259
47) afe Tl TmiaT A0ft =T 1047 Ue 47 B 3R 3HHT T8elT Ue
2 2, 154k T 15 ST T I 1 shifsTg)

a) 444

b) 555

c) 656

d) 775
48) T SHTAR & HEL e BT Tohe § ATAT LT & TR I8 T
w7 & fafeT 20 Tt i = s 31 i 3wt fog & 37 2
& STt et 3 i o a3 ok e o weet o 15 ot o
et <t it & =1 sheat 2, gae Tt 19 Topelt oht i & o7 gelt
TE T THIAL 20T HT STTET AT 81 T8 fohe {1 H S
I hE AT

a) 7t

b) 9fe

c) 8 fomr

d) 10f
49) TIHIST I U B9 | 100 FAR S T 150 TIF Teeh o T
T I S 26T et foranl| forsht qeer H wedeh 4% i afg
I = s aHTE § 3 FH %It 8 S B1 afe g uiver Y
TS AT ToIsha e x TR 2, Q1 T 1 & i 91 52T 3 ©18
T TIHST gRT S T ST S <t AT <R gwiidr 87

a) 175-x/2

b) x/3+ 156

c) 350-x*2

d) x*-2x+75
50) 64 cm3 TG STed 2 BT =Rl Teh TH & g ot ok STigt
TR 21 afoTTet ST o IE Sehe T i)

a) 85Ty
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then which of the below expression represents the number of floor b) 115 o
mats sold by Gaurish in that week? c) 180 o
a) 175-x/2 d) 160 aHP
b) x/3+156 Frterfam 6 want & foru fda:
0 350-x%2 frfaRad 8 afiteal ol afeT 3R 36k a18 T aTel 94l o
d x*-2x+75 I IS 3 201 o FoTT SATIehT 3T ohaled Ticeesal I STTenia

50) 2 cubes each of volume 64 cm® are joined end to end. Find the
surface area of the resulting cuboids.

a) 85cm’

b) 115cm’

c) 180 cm?

d) 160 cm?
Direction for the following 6 (five) items:
Read the following six passages and answer the items that follow.
Your answer to these items should be based on the passages only
Passage 1
For many people, a visit to the doctor often ends with a medication
prescription. But what if your doctor prescribed a walk in the park
instead of conventional medicine? Canada has become _the:latest
nation where GPs are doing just that.
British * Columbia,
Saskatchewan, Manitoba and Ontario — are now prescribing,time

Doctors in four Canadian provinces -—
spent in nature and even providing patients withra pass giving a
year’s access to the country’s national parks, marine conservation
areas and historic sites.
The World Health Organization (WHO) describes nature as “our
greatest source of health .and wellbeing™ and says enhancing
biodiversity is critical te recovery from the COVID-19 pandemic.
Although the mental“health benefits of getting out into the great
outdoors have long been recognized,,so-called green prescriptions
are now being widely used to treat physical conditions like high
blood pressure, diabetes and lung diseases.
Scientists say the health valué of spending time in nature goes
beyond the psychological. Research suggests contact with microbes
in the environment can ‘“‘train” our immune systems and reinforce the
microbial communities on our skin, in our airways and guts.
51) Which of the following is the central idea of the passage?

a) The importance of nature therapy is given impetus by the
innovative green prescriptions from doctors
b) It provides a detailed account of mental health benefits of
getting out into the great outdoors
¢) The potential benefits of green prescriptions in saving the

lives cancer patients

BHT AT
AT 1
3 AT o oI, Seret o1 ST SR G R R o AT HHTH
BIAT B Ao RIT BT TR 3TTeh Sieret 4 TRINeh il o SIsTr
UTeh B 28T shl HeATE S &81? FHATST THHTH I S TR & STei
T Siefet THT & TR &
et # St oTe Yenfa H forare e wwer w1 feifa s @
& 3T et ook for TSl bt 31 ok TS ST, ST Eeor &t
I UfereTien Tl 0% Tk 9 ol 989 J&H i o forg o
e FLIR 2
Tor TaTeed Te (WHO) Sohfdl oht "EaTeed 37T WeTs b SHTT
T ST |G ST 2 3N Fedl & i COVID-19 gemrdt &
Ja o fere Siat farfererat sht ST weaui 21 BTetifen ame o
o Wk T AT bl o THT & =T 1 715 ©, qATh{od
T TR T 3T ST &Y § ool TWhelld, HEHT ST HHET AT
st St wrifien et & sarsr o forg swemT o s
@Rl
SRt T e § 5 woRfa & wHe o o @ g
TS & O ) e & AT A @ foh TafeRer 7 Tmyet
1Y H9eh BT TfoRett Joredl st g s Eehar ® SR
T o= UL, THI ATFAT ST ATEd § HIgshiTorrel GHerl i
TISTEI S EHAT B
51) feferfaa & @ o6t a1 aftsae o S fomm 22
a) Wt faforcar & aeca i Sfaedl & Tl & T8 g/
TeHTe T ST 8
b) IT HEH TSR § ATeX ekl & HHfTh e
AT} o1 foreqa foreroT yer et @
¢) AR AR ot S = H 8L 0 o T T
d) ¥ ST Sieft i Aferspisr afEt & S w1 b
IR o a7 T fordT o Hecd ol Iedr &
YA 2
T &t H, et FRIsHHT T ARSI 31X Sh ToreraT o S i
TRt Sl EITCOTT UX ek 37E2 fohalT TTRIT | STSH-2TSH St st
FIHT % Tfd TSt o 3T ¥ yaT = © foh 3 ot
SN <l T o T | Tar U ared shrfshHt sl 3a aieht
OISR o foTg, STcafereh o= 3ie T 5U) 18 Sfafieh Sieehrt
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d) It reiterates the importance of spending time with family in
curing most life style diseases
Passage 2
Recently, a study was made on the popularity of TV programmes and
viewers perception about their quality. The study of athletes towards
prime-time television programmes showed that programmes with
identical ratings in terms of numbers of people watching received
highly divergent marks for quality from their viewers. This
additional piece of information could prove valuable for advertisers
who might be well advised to spend their advertising money for
programmes that viewers feel are of high quality.
52) Which of the following inferences can be drawn from the above
paragraph?
a) The number of viewers decided the quality of the
programmes
b) The viewer's perception about the quality of programmes is
significant for advertisers
c) The poor quality programmes have Very few viewers
d) Advertisers can derive benefit from the informationsabout
viewer's perception of quality of programmes
Passage 3
Enhancing Urban Safety and Security report addresses three major
threats to the safety and security of cities: ‘crime and violence;
insecurity of tenure and forced evictions; and natural and. human-
made disasters. It analyses worldwide trends with respect to each of
these threats, paying particular attention to,their underlying causes
and impacts, as well as to the good policies and best practices that
have been adopted at the city, national and international levels in
order to address these threats. The report adopts a human security
perspective which'is concerned with the safety and security of people
rather than of states, and highlights issues that can be addressed
through appropriate urban policy, planning, design and governance.
53) Which of the following is/are true in the context of the passage?
1. » Human security perspective that concerns the safety and
security of people is the major adoption in the Enhancing
UrbanSafety and Security report
2. The report pays attention only to the good policies and best
practices that have been adopted at the city in India

Choose the correct code

a) 2only
b) 1and2 only
c) 1only

d) None of the above

3 TIRTOARTATST o foTC Toda HTferd a1 Hehdl 8, fSie aRiehl
*hl =<l TSI STt hRIshHT o foT ST ForsToet o6 U el ot
F HeATe <Y ST FehelT B
52) SUR s & Fferfaa o @ i a1 fased e s
AT 27
a) SRIehT sh! AT < AT o T o hl
b) FRIEET HT TR F)IX F A Hgwem
foroaTaTatt < fore et &
¢) U VAT ATt FTRIshA] § SIgd ®H 3T B §
d) fergToRRTATST T STAHHT ol TUTerT o ST § qRfeRT b
STCOTT 3 ST | STMhRT & T fiet Jehar &
T 3
TEt GRET ST FeeT Rié 5 o TTetl ohl Gei ST & o fo7g
< S e b, HTTd sl 8: IO S e i
6T, ST 3T ST, Se@alt; qoT FTehfesh 3R e Hia
AT I8 31 Tl H & Ik o Gy § forgeamdt &m0 bt
oo shtdT B, STk STatTed hIUT S THTT oh AT-H1e 39
Tl bl gL o o o T, TGy 1T STl Tt ot 37oTE
TS STt i i Hataw yereT W fasiy e 2ar B1 fand
T HTFE GRET o6 IOV ohi ST 7T & ST AT o6 SIS A
T et 7R T & Hefq 8, ST I Rl O SeRRT STl T ¥
2 S vt Aifd, aem, festmeT ok wem & At @
Fafra foma ST wehar 21
53) uft=ae & dedl § faeforfaa 3 @ w9 av@ aca /82
1. T AT TRHe S @ shl EeeT TR Tt § Heiferd
®, TRl e 37 Tl ki sfgi oAl RO H e &9 |
CLEIDIRIDIE
2. Trare Faet 37 1=t Hifaa T gaiam gurei w e
At B o2 v o Sret A o T R
T wE T
a) Faret 2
b) ohad 1 32
c) Fae 1
d) U HE ot T
AT 4
1 gur T & feed o w9 |, =i aegfa =ft fmf,
T O ST, S % STee, § ieT & H 8T SUSHl
TR STR aieqor o fore 1 foremi et sreanfore feram =1 frem
iqew forerer o1, froere o gferm fasm it wide & d@eiy
T fota & 1 eferes rferem
A 1 e, <1 o1 L& TN SR (DIB) T3 o Wfied
TTCAT & 3T T&TT STE T IHHT U B 7T 2w oAl 33T
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Passage 4
As part of the military reform continuum, Chinese President Xi
Jinping, the chairman of the Central Military Commission, CMC,
recently promulgated new regulations for the evaluation and testing
of military equipment. The new regulations will give the People’s
Liberation Army, PLA, a greater say in decision making with respect
to weapon development and procurement.
Like India, China’s Defence Industrial Base (DIB) is State-owned
and has a monopoly over defence production. The new regulations
are aimed at streamlining the relationship between the PLA and the
DIB and making the latter more efficient.
In the past, due to a complex system of defence management, the
corporations of the DIB were the main drivers for the development
of defence technology and weapon systems that were offloaded on
their captive client, the PLA. After feedback, the equipment was
improved and modified. Zhou Chenming, a researcher at Yuan Wang
military science and technology think tank said, “In the past, arms
companies would persuade the PLA to buy their products, whether
they needed to or not because the military was told to keep the-orders
to help defence industry workers keep their jobs.”
This system worked fairly satisfactorily as most of the, weapon
systems were based on reverse engineering of medium technology
Russian equipment. As the PLA began its transformation" for
“winning informationised (sic) local wars” that required weapon and
support systems based on high-énd. military \ technology, the
corporations could not measure up to the qualitative requirements.
54) Which of the following ean be inferred from the passage?

a) In India and Russia defence production is monopolised by
the state owned company
b) Arms companies in China have persuaded PLA to upgrade
the defence equipment
¢) Afms companies in China were the main drivers for the
development of defence technology and weapon systems
d) » Transformation carried out by PLA has necessitated it to get
rid of medium technology Russian equipment
Passage 5
It is often said that God made man in his image; it is also true that
man makes God in his own image. Both may be right; and you are
perfectly right in thinking of your God as a super tiger. Also it may
be true. What we must not forget is that He reveals himself in a
mighty terrifying form which pervades the whole universe in every
form of life and action. Remember also He is within every one of us

and we derive our strength from him.

AT, SR SraATse o off el shl Yeadieerd T AR a1g
ATt T 37 31T e ST R
AT H, T8I Yee ol Teh Sifeed YOIl o h1oT, SieAmssll &
T TaT Senfireht 37 Sferm yonferat o foshre o fore e
T I SiT 3k hited FelTse, TUaT X 3qN T | higseh oh
ST, JTHTOT H G ST AR fohat TT2T| 3T i &= forr
3R TN firht fofsh ok o Weh TRl s =-THT 3 e, "oTdtd
H, gform s fiuery s 2999 3carel shi Eiied & forg usht
L off, TTE 32 T BT AT Tel- aRdifeh AR &1 § 08g i
% ST T o foTT T 7T 91| I o FHANT STIHT Tiohil
@d a1
3G JUTTEAT 3 SpTohl GATSSTeh @i, hTH feRdT SFfifeh SAfereniaT
RER yuifet mem  SRnfehl w6 Suson Fr g
St ox i off| S & dieeTe 3 "gerTd (T)
T I S % foTg, S afteds 3% o, e forg
I 3 8= TR g et g ST aweds yoreft it
AT off, AT TTUTTeHeh STTaTaaharat! 1 AT e i Tl
54) FrfcTiiad # & Titess a1 ST T ST Hehdl 872
a). WG ST & T &1 316 W ST & Eied Jreft
SO T THTRIFR B
b) =i # BRR Hufat 3 fuay ot @I Yo
IS T o foTe TSht ot foram &
¢) 9 U sRER sufEr @ Senfeh ot ghem
TRt o ferehr o foTe e =meteh off
d) e g o6y T iteds ¥ qeaw denfieh w6
IYHTOT § Pk T o oI 39 ST1arvarsh o foam &
T 5
3T I el ST & Toh TR § TS T 3T T H ST,
g oft T 2 Foh TSI S Y 370 TR H ST 21 ST He A
HeRd §; ST 3T S0 WA T Tk GO TR & &9 H Hiew
T foresper @t 81 |y < o e oft 8 HehdT 21 75 A% e e
TR foF 98 ST AT9 3Rl Tk ITRBITAT STk §9 H Jehe LT
& S QU sTarS | Sftae 3 f5ham o 8 &0 | A 21 7% i A
T foh 9 89 § § Todeh o fia & o7 81 389 79t w1fh 9T
EoGR
55) GR=e T HTe AT 22
a) TTeITyE (Didactic)
b) U (Condescending)
c) ﬁa'l'q’qgf(Argumentative)
d) 3ATeihTIER 9T AT (Humorous)
T 6
fefeT: 1800 o 231k 1, 317 9T 7T foh STeqaTedt § ST & aTed!
T BT H § T A 1 77 36 J@R 4 g5, B 38 s=ar
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55) What is the tone of the passage? S & A1 agar&m%m Rl ﬁ?ﬂ%’%ﬂ?ﬁ&?m Siees
a) Didactic &t off, 3R e fordt 2Ts i g @ o) W S+ o= I uEn
b) Condescending T ToF Sfereti o U ToredT shi @ Tmet off 371 3 T 8Ty
¢) Argumentative 3T IUHT Uk HIEeAT o THUATE H TSR sl AR o ST ©
d) Humorous QI%%%WW&WW@W%@W
Passage 6 ﬁ'{'f\%?f%l

Linda: In the 1800s, it was found that one in every six women who
gave birth in hospitals died of a fever they had contracted after
delivering the child and that the mortality was not as high if they
gave birth at home with the help of a mid-wife. It was found that the
doctors had a poorer sense of hygiene and that their dirty hands and
instruments were leading to pathogens entering a woman's
bloodstream. Thankfully, hygienic conditions today are much better
and women are safer.
Fiona: But doctors today are so overworked that a number of doctors,
while aware of the need for better hygiene, barely find the time to
wash their hands. The likelihood of infections caused by doctors is
probably not any better.
56) Which of the following can be used by Fiona to furtherestablish
that Linda need not be correct in her reasoning?

a) A nationwide survey found that doctors,  especially

experienced ones, are more prone to the belief that they

could not possibly be carrying pathogens.
b) Itis reported that around 50,000 people die every year in our
country from hospital acquired infections.
¢) Compulsory hand cleansing is strictly adhered to by all
doctors and nurses before every major surgical procedure.
d) During a studysy doctors handling new-born babies self-
reported a hand cleansingirate of 90%.
57) Arpitha writes a long comic novel but when she gives it to the
publisher he numbers the pages of her/novel from 100 to 10,000. In
that case how many times the digit 3 would be printed?

a)r 3980

b) ».3700

c) 3840

d 3780
58) In an Olympic relay competition 3 sprinters Usain Bolt, Justin
Gatlin and Carl lewis decide to run around a circular track. They start
at the same time and run in the same direction. Usain Bolt is the
quickest and when he finishes a lap, it is seen that Carl lewis is as
much behind Justin Gatlin as Justin Gatlin is behind Usain Bolt.
When Usain Bolt completes 3 laps, Carl lewis is in the exact same

position on the circular track as Justin Gatlin was when Usain Bolt

o Afer St o1 34 i v 1 € fob e Siget
SIER TFesT T HTARIHAT & o H S Y, T 819 o 5
fore Hfveret & &t |t fehret Wi 81 Sisreti ok SHROT ESHHOT h
TYTSHT SIS 18 Seal el 2
56) freaferfiaa o & fergsnr SwnT fohaiHT gt 92 wnfua e
% foru fopam ST Hepa ® T fefgn &t o109 ah o @&t a9
ATETIHATRL 22
a) Ueh UeedTdY Tareru o T T {5 Siget, oy s @
ST <, g forame o wft st yem e E fop o
GYEd: TATSTehl ohl el of ST Fehd|
b).. I8 TATAT 7T ¢ foh SAN 397 | B | ST 50,000
SINT STETe & ITH HshHuT & T 114 2
o). B a€I IeT ufskar & ueet aefl gl K 4t g
AfaT 1ot it TS ohT Tt & UTe foharT ST R
d) T ST 6 S, Ao RIAT T SIS Bl el
STt A T ST ok BT A% i 1 & 90%0 R
57) Afddr U oA R 3uTE foradt § Afh S 9% 39
TehTSTeh Sl Sl & T o8 319 SUITE o U=l oh! §&AT 100 &
10,000 Tk =T 3t B 38 fearfer & 3ieh 3 forat s =T
a) 3980
b) 3700
c) 3840
d) 3780
58) Uk AleAfueh fiot Tfeafiar § 3 fed 389 siee, ke
N SR T A9 3 T TMATHR ¢ o TR AR 1S A
THET ToFRaT| o U 2 6HY T ITE B © 3 U &1 fowm 7 =rerd
Bl S8 Tiee g s & 37T S I8 U o Wed L &, 1 I9
@ ST 2 foh et qJed ST fefe @ 3aq & b & fore
fop St frefor 387 diee @ e ) 1 389 diee 4 3 AW R
foru, it et e wehert 9k TR 3k et fafa & & S e
T 30 WH & STel 38 aliee o 1 o g fohaT ol 38 S,
ST Aeford ST Tel <8 ol T T STITT 14 HITSTT?
a) 5:4:2
b) 4:3:2
c) 5:4:3
d 3:2:1
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finished 1 lap. Find the ratio of the speeds Usain Bolt, Justin Gatlin
and Carl lewis?

a) 5:4:2

b) 4:3:2

c) 5:4:3

d 3:2:1
59) Tickets numbered 1 to 20 are mixed up and then a ticket is drawn
at random. What is the probability that the ticket drawn has a number
which is a multiple of 3 or 5?

a) 1/2

b) 2/5

c) 7/20

d) 9/20
60) Ramesh is four times the age of Riya. If after 5 years, he would
be three times of Riya’s age, then further after 5 years, how many
times he would be of Riya’s age?

a)

b) 2 times

c) 2.5times

d) 3 times
61) Arjun is 5 years older to Bhavya and 7 years younger to, Charan,

1.5 times

while Bhavya and Dhanya are twins. How many years older is
Charan to Dhanya?

a) 10

b) 14

c) 18

d 12
62) Karan is a math genius. He givesi:a number riddle to his friend to
solve. He says “If the sum of squares of two numbers is 97, then
which one of the following cannot be'their product™?

a) 64

b) -32

cy 16

d) .48
63) A cocktail contains a mixture of 175 ml water and 700 ml
alcohol. Gopal takes out 10% of the mixture and substitutes it by
water of the same amount. The process is repeated once again. The

percentage of water in the mixture is now

59) 1 § 20 T o fehal ol THaT faaT STTaT € 3TR ftht agfeseh
Y U U fehe fHehrar STrar 21 geeht R yifiekar @ foh feprer
TTQ fEehe H U EE@AT & S 3 AT 5 1 0 22

a) 1/2

b) 2/5

) 720

d) 9/20
60) THRT 3T 3T T <t STy 2t =) T 21 afe 5 o, %
T T TRy 361 <1 AT SR, ST S AN W, T R Al AT
EAREZEIRICIRUIY

a) LS

b) 27

¢) 25T

d) 37
61) TSI, AT H 5 WIS ST SR =T § 7 |A DI &, Aok
oI SR T Sl 2 =0T =T & foeit e wrg1 22

a).+10

b) 14

o). 18

d) 12
62) T Teh T TFTITeTTedt 31 I8 319 & ! &8 i
T weh o wReft 3a B a2 shea 7, Al < wenedy 3 amf s
2T 97 3, A FrfeRad F & -8 SR e Tel 8 wehdr
"

a)

b)

©)

d)
63) Tk hishee | 175 fireft ot 37t 700 fireft stoshieet =t
forsyor 21 T firsror =T 10% fHeRTer ST © ST 38 3T &
AT B g @ Sforeenfud sar 21 iR T ar 6 e St
R Tersror & arelt w1 gl o @

a) 254

b) 20.5

c) 303

d) 352
64) FIHAT T 0T e Ve @E| Ia HIAIR I ST FD
ST AT IGehT SATET @ o7 37X 36T ¥ ST T Tl 3eid

a) 25.4 Teh GHTE o 59 Ue ol UTei TohdT| HTE oh S S8 fohat
b) 20.5 LCARCIERSU Y
¢ 303 a) 84.4%
d 352 b) 90.5%
¢) 99.22%
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64) On Monday, Karun ate half Roti. He ate half of what was left on
Tuesday and so on. He followed this pattern for one week. How
much of the Roti would he have eaten during the week?

a) 84.4%

b) 90.5%

o) 99.22%

d 87.5%
65) The page numbers of a book were added and the sum obtained
was 1053, but one page was added twice. Find the page number
which was added twice?

a) 17

b) 18

c) 21

d 23
66) A fraction becomes 1/3 when 1 is subtracted from the numerator
and it becomes 1/4 when 8 is added to its denominator. Find the
fraction.

a)

b)

4/11
5/12

c) 6/13

d) 8&/13
Directions for the following 2 (two) questions:
In each question below is given a statement followed by two
assumptions numbered 1 and 2. You have to consider the statement
and the following assumptions and decide which of the assumptions
is implicit in the statement.
67) Statement: Cases of food;poisoning due to consumption of liquor
are increasing in rural areas.
Assumptions

1. Percentage of people consuming liquor is more in rural

areas:
2. There are many unauthorized spurious liquor shops in the
rural areas

Choose the correct code from below.

a) Only assumption 1 is implicit

b) Only assumption 2 is implicit

c) Both assumption 1 and 2 are implicit

d) Neither assumption 1 nor assumption 2 is implicit
68) Statement: Safety and health practices in many Indian companies

are well below the international standards

d) 87.5%
65) T T o I8 A1 TS T S ITE AT 1053 T, AR
T I8 31 S SIS 7| 9 I8 ST 914 hife 578 & I Siret
TRIT A7
a)
b)
c) 21
d) 23
66) T T 1/3 BT STl § ST SHoh- SMHY 1 THAT ST &
3T 3T BLH § SIS W AT 1/4 BT T 81 Sth 18~ J1 hifsTy
a) 4/11
b) 5/12
) 643
d) 8/13
frferRaa 2 (@) et & forg o
= feu U g g H U e fear mar @ e 9@ 9
A 1311 2 8| AR e ot feferfad armramen w
T T @ 3R 718 a7 &t © T3 i ©ff amon e # ffea
2
67) T TTHIOT &1 H YRS o T § S WSS+ o HIHe
TETE
T
1. IR0 i STt ot T TTHiOT &5 7 STf R
2. TTHIOT Sl H S S TG Y Fehedl IS i b §
= & wet @ T
a) e gror | ffga @
b) et gren 2 fga
c) oTOT 1 3T 2 T Safifea &
d) T ewom 1 3T & awon 2
68) HUA: FIT VKA FAMA H e AR ey Jrg
ST ATeh! & 1! e &
T
1. e SR g % FAE AN e SR
AT &
2. A ST e I e Yot hl A S
araTforen forer) Tt wra €
EEGEE I
a) ohaot T | fifea @
b) haet gron 2 fAfga
c) ©TOT 1 37 2 T SFafifed &

17
18

Assumptions d) T emon | KT & a2 g
1. International standards of health and safety are ideal and Fratataa e ®) 2t o foru e
unrealistic
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2. Indian organizations do not consider safety and health
management as their prime social responsibility
Choose the correct code from below
a) Only assumption 1 is implicit
b) Only assumption 2 is implicit
¢) Both assumption 1 and 2 are implicit
d) Neither assumption 1 nor assumption 2 is implicit
Directions for the following 6 (six) items:
Read the following five passages and answer the items that follow.
Your answers to these items should be based on the passages only.
Passage 1
Economic models like the combatable general equilibrium model are
mostly valuable in policy formulation as they give some insight into
how trade policy changes will affect the sectoral composition of
output and employment.
They are not in themselves designed to provide direct inputs but
really to serve as background as to the sectors that will be most
favourably or most unfavourably affected by policy. Besides, they
render valuable help in policy matters regarding free trade. Free trade
has distinct benefits.
These benefits are well accepted all over. However, there/is,a
growing opposition to free trade. There is an increasing perception
among certain groups of how international trading.systems impact;
especially how they affect low-wage workers, and also. have a
degrading environmental impact. Yet, it.is difficult.to accept that is
the reason for any kind of protectionist move in the most advanced
countries.
69) Which of the following statements.is definitely true in the context
of the passage?
1. Despite the advantages of free,trade, it is not wholeheartedly
acclaimed by most advanced countries.
2. Policy formulation should be solely dependent on econo-
metric models.
3. » Reasons for model approach by advanced countries are not
given in the passage
Choose the correct code
a)
b) 2 and 3 only
¢)
d) 2only
Passage 2

1 and 2 only

3 only

India has a history of neglect in breaking the intergenerational cycle

of malnutrition. About one in five women (18.7 per cent) of

Frafctiaa o= ait==er i gfeq 3T 36 =g A a1 T2 &
IR AT 37 940 o fA 31Tdes ST haret ui=ael W AT
N =TfeY
AT 1
T5 A I Te Hied S 31iish Aiser Hfif fmior
TR T A & 11k o o STAGMY ad & fo SATIR Aifer
TR S8 ITE ST ST Y 31 ST ol TTerd |
o T T T T 3 TG hT o 118, TSTTeH el T Tg
&, IfeRT aTera © 3 &5 ol IBN{H S ETH H F o forg 2
ST fifr & e e TR AT Hed Wik ®9 § ST
2 3 ST, F Heh AR % Hejy FoAfrma amar §
g HERIAT T Shid €| Feh SHIU o6 [eI1Tg o1 €
T AT I B STTE T gl © TR fohaT ST 21 BTeTifeh,
Th SATIR 1 (oRIY ¢ TeT 8| 5 THE o s I8 LIl gl
STTTET & TR STauisien sHmam Somedt S8 gufard st &, fori
T9 TS H AT Tt AR T he TTfId LT & S 3R
T eufig TS T W Bt @) T o, I Tl T g
2 Tor aera S1q Qi o foreft oft ToRTE 3 TReToTeTe hem ST IOT
REE
69) Ui=ae o deyl o frfafad o 8 i a1 e Ffga sw g
e 27
1. T AR % ATHI o SIS, T8 AR I a0
TR R feet & it 7 2
2. ifa fFmfor ¢ e & srelfifee diea W it g
Y
3. 3=Td QI ST HISe gehivT o T Ui=ee § 72 fu
T
T HE T
a) ael 1 32
b) hadt 2 N3
c) Fae 3
d) a2
T 2
FTYUT o STAX-HTE =I5k b i o W i ST T 3hreTd &1
B WA & IS TR (15-49 o) it o § & T A (18.7
gfaerd) udet ®, o Sl om e (SumeTs) 18.5
forctmm fa & Hied & &7 8| I8 g e & (13.1
SifcrRTer) 3T T H TTHIOT &t (21.2 SfARTa) W 3ATere 21 ST
Teh =TS AfeTstl (23.3 er) sh el 18 |ieT 3hl 37§ Uget
HESIiR
FITA T, Teft TTaT 8, ST A o ST 8, e
FH IS Il dl bl 7 o Y ARk T9TEET Bt | 3R
ThaoT 37T forehre <l farsetar =t @awr 31frs BT 81 2019-21

KUMAR’S IAS
Contact Number: +91-7078888888, Mail I’d: kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

reproductive age (15-49 years) in India are thin, with a body mass
index (BMI) of less than 18.5 kilograms per square metre. This
proportion is higher in rural areas (21.2 per cent) than in urban areas
(13.1 per cent). Almost a quarter of women (23.3 per cent) are
married before turning 18.
Under-nourished women, in all likelihood, become under-nourished
mothers with a greater chance of giving birth to low birth-weight
babies more prone to infections and growth failure. In India, every
third child is under-weight (32.1 per cent) or stunted (35.5 per cent)
and 19.3 per cent children are wasted (weak), according to 2019-21
National Family Health Survey-5 (NFHS-5) data.
Despite impressive gains in the past decades in reducing marriages
among children below 18, there is stagnation in early marriage and a
marginal reduction in teenage pregnancies. This is a cause of
concern. It indicates rise in complications at birth, low birth weight,
and higher maternal and child mortality rates.
70) Which of the following is/ are true in the context of the passage?
1. The proportion of women who are thin are more in urban
areas than in rural India
2. Reduction in marriage of girls below 18 age seems to have
greater impact on the issue of early teenage pregnancies
3. As per NFHS-5 data every third child is wasted and every
fifth child is stunted
Choose the correct code
a) 1and?2only
b) None of the above
¢) 2and3 only
d) 3 only
Passage 3
The phrase “military innovation” is net often associated with India.
We tend to have a notion that the subcontinent’s kings were passive
observersf the brilliance of the'rest of the world, lolling about in
perfumed courts and waiting for foreign conquerors to bring
technology to them with flame and sword. Nothing could be farther
from the truth. From as early as the 15th century, well before
Europeans were even aware of direct sea routes to India, we have
evidence that the battlefields and forts of the subcontinent resounded
with the boom of gunpowder that Indian rulers proactively hired
specialists from across the world, and even that Indian weapons were
sought after in the rest of the world.
By exploring the violent world of the South Indian empires of

Vijayanagara and the Deccan Sultanates, we’ll see just how

% TSR ITER TR TaeivT -5 (TTUHUTH -5) o 3Thel
HTER, IR § B A a=ar F: a5 (32.1 Sfewma) =
rfersRfer (35.5 faera) @R 19.3 Tfaerd s=o FHsIR &)
fUset e3ehl 0 18 a9 © &7 S & Sl & s f9aT8 Sl 7
T H TR AT o STaS[g, A 37 § foaTe § 3g0a TR
2 3 fopeie meferrer # weft et o17E 21 7@ fefa w6 wRor 2
IT STVH o G SeAarstl H Jig) S % THT T a5H K
I AT U TRI] g & Hahl T 2
70) ui=g o Hewl i fforiad J 8- i |yd ac /87
1. et HiGATAT T STFHTA TTHIOT IR bl et H el
&= | SAfreR g
2. 18 UIT U S S hl ISRl oh ISt § St T 31T
Sieah foRT T RIRer o T X 1T vedt &
3. NFHS-5 3 3Tig[ % STTHR & e sFeal FASIR
BIAT & 3T gL Ui sree SAfIhid erdr @
Tt e T
a)ohdT 1 32
b) SHHH w1 off T
o). Fae 2 H 3
d) ®aa3
T 3
TR =T TR SR YT & Helg T} 2T 2| g0y I8
RO © foh ST o T sirht g ot wferwr = Fiftshar
TRidEE 3, T e H FHd o 7R faaEht fastarett & g
St SR TAIR 3 A1 TN AT T Teftear i o) Jealts o
Ak wETaqUl e el &1 gehTl 153 wraredt i w4,
3O et foh T AT R o o € T W o o i
ST o, S UTE 36 ST o SHTUT & foh STHRTATT o J8&H 31K
forct e o I®M & T[S o fof Wit Smreeht 3 |fohT &9 &
gl 91T o RIS i e O T o, 37K I o feh 91 forg
T R gfRm &t o <l |
TSI 3R gk Tead o TaT TR TroTsay st fEoeh
T 2l WIS ek, B <l foh oi-STe e et feheT et
ofT, 371 - BH qehileh! Tad o S J T fomama 2
14ff STaTeet  gferor v Yare | o, forew sent odad 3T
st wfed wiftrenedt, 7 7T T5T SR R 9 faser,
TEHHT 3R 3 fawel! o qEafaal § HiEe, TSear & &
1Y I o HEW T ETE 8 o fAIg IRY SeTe e - 396
fore, weh srraé g S e ol ey Sl R Wi
TSI fer ol et H 31Tereh AoheraTeeh, fastam = =gt o qust
TR I UHTIIRT i o foTq 319 317fefen qrend ot S&adTel
ToraIT; WHeRTel SfaeTaeRRi ST SITIqehi o |1ed &1 Hferd id
& o 50 Qo1 WIS o S EaR o HTqe (I3 Y o a1 W
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innovative pre-modern India was, and what it teaches us about
technological change.

South India in the 14th century was in flux, with powerful,
innovative new states emerging, including the Bahmani Sultanate
and Vijayanagara. Vijayanagara, learning from the Bahmanis and
their Delhi
dominating the battlefield with cavalry — what, to them, was a tried-

predecessors, poured enormous resources into
and-tested military technology. More successfully than earlier South
Indian polities, Vijayanagara used its economic muscle to

monopolise the seaborne trade in horses; evidence from
contemporary historians and visitors informs us that it hired Turkic
mercenary cavalrymen with deadly composite bows; scholar
Srinivas Reddy has shown that it also maintained a corps of Indian
cavalrymen armoured in steel, riding towering Persian steeds.
71) Which of the following is the most logical corollary that can be
drawn from the passage?

a) Bahmanis had the tried and tested military technology of

cavalary with them

b) Lack of seaborne trade in horses had serious repercussions
for the Vijayanagar empire
c) The fact that Indian subcontinent knew the usagerof
gunpowder before the advent of Europeans debunk the.idea
of India being a non-military innovation nation
d) Weapons during pre-modern India were least sought after in
the rest of the world.
Passage 4
Criminal neglect of our heritage must count among the worst failures
of the Indian nation-State. In the mame of modernity, we have
cultivated cultural illiteracy. In the name of progressivism, we have
taught our youngto look down upontany, ritual as superstition, any
cultural bond 4as regressive. A moderns highly educated Indian does
not read of write in any.Indian language, beyond necessary to speak
to his.driver or maid. She cannot tell one kind of textile weave from
another. He/she knows little about any of our classics, except perhaps
the Amar Chitra Katha version. And now they are turning away from
local food, except the staple roti or rice. The less we connect to our
culture, the more modern we are in our eyes and in the eyes of those
we value. Modern India has promoted a deadly mix of ignorance and
arrogance.
There is another polite version of this modernist hubris. This high-
brow version of modernism connects to cultural heritage, even takes
pride in it, but only if it passes the test of modern sensibility.

Following Nehru or Amartya Sen, we could foreground some

o 7@ o; g fifrare et 7 faamn @ o o foremer et
HST 3h! TR hd BT &I H Tedisld M1 Jgaanl hl Ueh
a1l shT +ft ST Tl
71) frfafaa 8 & w-a1 ged aifehens afom 2 & afese
& freTe ST weRar 22
a) SEAMT o TTE YU HHT hl STTSHTS g3 3 Tl
TS &= e e off
b) HIS % ST SATIR % ST o TR FHST T
TR T9T9 98T
¢) T IT & foh RCATT IUHRTEIT JAUTH @I 6 ST
Y YEc! JTEE o YT ol ST AT, WA o Teh -8
TATER TS B 5h [orelT shl TS o 3T Bl
d) RS WA SR A for 7 SRR o e
ESRIE
4qT 4
AT forrard <t STTORIfee U hl TR TS-TsT Y T
T fawaarett # fHT ST =nfey) sryfierdT & T T E
i fcreh (L&IAT 9T 3h1 &1 STTTaTg o 17 O, TH 37 Jarat
=1 TerRgTa & foh foreft +ft 18T ot sturforame o & o, forelt off
Hitep{deh. Se STt o &9 H <W| Th AR, Ie
fofara Rl U gIgeR a1 AR 919 R & o
TR ¥ AT foreft ot At s & =2t wea a1 foreran 21
€ Ush T8 ! HIST TS hl gL ¥ el o1l Fehell| I IS
IR T HeIT TERTT ol DR, BN forell ot Fettferes & s
T S5 A AT 2| SR I o Y VST AT =19 I BISH,
TR TS & AT @ B e 0 g STt Hepla & Jed
&, 3 & myfes g 1ot TR § 31 3 A oY AN H B
& S o0 wew 39 81 MY WA T ST ST STEHR
BTk foeroT i srgran faa 21
T AYFFRAEET ARHA F TH R o H T 2
SATYHAT T T8 TS5 HEHTUT WIEdeh fored & T 2,
7l o o 380 0 T oft Tl R, AR At ST Fw Sy
HOAGTRITCTT sh TRTETT T AT | 6% AT 3T T T STTET
T U, B ST THfT & 5 ST, areifeh T ot wm
Hhd € I IH WIS L W &) TH BogiSaT o FS| o A1
3o 2| TAfohT Toh TURTE o TeX hel Wl AR HEhid
Y U H3HS BH feraferd ol
72) TG o FTAR AT T AR forEa h uar
freferfaa & & =6 a1 e 22
1. 38 T3] bl FHHAIS h TR hl SHerferare s
feare
2. HUTE T TRl o SR H wHE T T
3. WiEHfrer ster ot Tt o 9§ 3@t S 8
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abstract, philosophical strand in our culture and take pride in it. We
are okay with Fabindia clothing. But an encounter with popular
culture anywhere outside a museum makes us squeamish.
72) Which of the following are the impacts of neglect of cultural
heritage on youth as per the author?

1. It has made youth to conceptualise ritual as superstition

2. Lack of understanding about the varieties of cotton

3. Cultural bond is looked upon as regressive

4. Neglect of the local food

5. Little knowledge about Indian Classics
Which of the following are correct?

a) All of the above

b) 1,2, 3, and 4 only

c) 1,2,3,and 5 only

d) 1,3,4,and5 only
73) Which among the following connote the same meaning as the
word “squeamish” mentioned in the last line of the passage?

a) Ugly

b) Hate

¢) Fastidious

d)
Passage 5

Pitiless

There are good reasons why the ‘Heart of Asia’ conference, part of
a 14-nation process begun in 2011 to facilitate the development and
security of Afghanistan, is so named. The obvious jone is
geographical, as Afghanistan lies at the junction of Central, South
and East Asia, and also of the ancient trading routes from China and
India to Europe. Today itis also a focal point for the region’s biggest
challenge of terrorism; some of the far-reaching battles against al-
Qaeda, Islamic State, etc. will be decided on the battlegrounds of
Afghanistan. For India, putting terror centre stage at the Heart of
Asia declaration in Amritsar was thus timely and necessary. In
tandem, Afghan President.Ashraf Ghani and Prime Minister
Narendra Modi focussed their concerns on cross-border terrorism
emanating from Pakistan, something even Pakistan’s traditional
allies at the conference, including China, Saudi Arabia, the UAE and
Turkey, found difficult to counter. The case Mr. Ghani made was
clear: progress and development in Afghanistan are meaningless and
unsustainable without peace, and peace is contingent on Pakistan
ending support to terror groups such the Haqgani network and
Lashkar-e-Taiba. He dared Pakistan to use its proposed development

grant to Afghanistan to fight terror on its own soil.

4. T WIS i 3UeTT
5. VAT FATToeRd o N 8 s SR
freferfaa & & = w82
a) YR Gt
b) ad 1,2, 3, AN 4
¢) FaA1,2, 3,315
d) A1, 3, 4,315
73) FrfaRaa & & = @1 19 et 37 1 © S uiese
a) IEY
b) ol
c) TRE
d) Tt
a5
AFITEA o6 forehie 31T GLar ! Glarersieh s % fog
20119 & ES 14-Tg Ffsharm a1 feedt 21 AT i qeer
% 3T HAYT &1 T i fereh B, ifen SAwmiear ae, gfaor
3T TR o S o feerd 8, A= 3 IR | 0
Toh o I, STk AT oft 8| 37T I & it ATdeharg Y
Herl ST I 261 ohg foig oft €; S7et-shrorel, SEaATleh &,
311, 6 et e GUTTHT TTSTgal shT HHeT SABITRA % I5,
& HaTH1 9T TR Serm) R o for, st ¥ =1e ST ufin
T SO | TG hl hg B TG G0 T 3T AT 1)
STUTTSRH T, STHT ST ST 7T S e ot g widh
3 ITTREAT & Iea—T B JTet HHT IR 3TTdehare It ST fearent
T e hixd fora, agt 7 for =, st o, WY ene
ST SR el Hied THIeT H TR o TRI T Seiar
T HEHTSIAT AT G ATl 2t 7T 3 ST AT S o8 T
oT: AT 8 i 3R farepmer wrifer & fomm evefd ofic
AT B, 3T i< UTTeREdT 1T BT A2aeh 37T Avahl-U-
T S STRATE T bl Trel T 0 Tl 31 3
fREAT 1 I & fof o STt el ot ATdehaTe | oe o
T SBTReT =Rt SreaTfore forshmer STaT o1 SedHTet )
74) TG o TR BTE AT TRMET HHe i TR Tsier
AT AqT?
a) il o FEUTSAT 0 WHITAH T & HATHAT FH T
HTdHATE h RIS I S o fo1g
b) STEEA bl TRETE T | el TR AR 309 &
s SR g s & foe
) URTETE B % T H AGTEIH 6l &dr bl dm
A R ST § e o e @i
greses s
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74) What according to the author was the initial agenda for the ‘Heart
of Asia’ conference?
a) To strategically invade the intruders of peace and to rage war
against terrorism
b) To make Afghanistan from the Asian ‘Hub’ to the trading
central between East Asia and Europe
¢) To bring out Afghanistan’s potential as Asian ‘Hub’ and to
facilitate development and security in Afghanistan.
d) To plan the strategy of utilizing it’s potential as the focal
point of terrorism and attack Pakistan
75) How many numbers of up to 5 digits can be created using the
digits 1, 2, 3 and 5 each at least once such that they are a multiple of
15?
a)
b)

12
15
c) 13
d 16
76) Dhanya approached a bank to take home loan and she was
charged an interest of Rs. ‘a’ per 1000 for the first month and'Rs. ‘b’
per 1000 for each succeeding month. How much interest will be
charged during the first 3 months on a loan of Rs. 15,0002
a) 20a+ 10b
b) 10a+20b
c) 15a+30b
d) a+2b
77) It is given that a, b, ¢c and d are in'A.P.;, What can we say about
terms bcd, acd, abd and abc?
a)
b)
¢) They arealso in G.P:
d) Theyarenot in an A.P.,; G.P. or H.P.
78) ArungBheem, Charan rent a pasture. Arun puts 10 horses for 7

They are also in/A.P.
They are also’in H.P.

months, Bheem puts 12 horses for 5 months and Charan puts 15
horses for 3 months for grazing. If the rent of the pasture is Rs. 175,
how much must Charan pay as his share of rent?

a) 45

b) 50

c) 55

d) 60
79) An overhead tank of a residential complex is filled by three
distinct pipes with uniform flow. The first two pipes operating
simultaneously fill the tank in the same time during which the tank

is filled by the third pipe alone. The second pipe fills the tank 5 hours

d) SATARATE % hg feig o T H ST GTHAT HT I
A ST UTIREA I AT L Bt T ot ST
ST

75) FH U HH TR AR 1, 2, 3 3R 5 Iihi ol TN ek 5 e
e T foha{t TEaTd SITS ST Tehclt &, TR o 15 3 T[Tt &1

a) 12

b) 15

c) 13

d) 16
76) €T < B A i o oI Tek sigh | HUeh fohaT 371 38 0T
e TEH o foTT @ 1000 FF3 T SHTSL AT TN Tk
3T Al o fore gfar 1000 "ot $9T T 72| 15,000 €93 6
U7 O UgeA 3 HRIAT o S foheaT st foram sam?

a) 20a+10b

b) 10a+20b

¢) 15a+30b

d)a+2b
77) T€ feaT R ® fF a, b, ¢ 3T d T@iaT 9oft 7 €, & bed,
acd,abdﬁabcwa?aﬁﬁwaﬁmﬁ?

a) o oY gHiqT goft §

b) o ft greHen Aot 7 &

¢) o ft o Aot 5 8

d) ITAAP, THGP. MTLTHP. G
78) 37T, HfH, =0T Ueh =RATTE foRIT W oid | 37T 7 e %
forT 10 =1 TEar 7, ot 5 7 o fow 12 =S war € S =
3 7E o fTT 15 91 <A o fore T 81 afe <morme ot ot
% 175 &, =01 1 370 foed & foRe o &9 foRa pmam
AT ERT?

a) 45

b) 50

c) 55

d) 60
79) Ush AT TR T Uk HTaNee o Uk g0 Y918 &
TTY T STT-STT UTSHT | ST BT 2 Teh AT 1 i aret
TR 31 UTY 3k ! a2 9 1w B, o aug 1 dh
TG TS ST LT 8| TERT U189 3 i Tt UIgd § 5 He
AT I AT e @ 4 5 fieft i O 9ear ]1 T8 q1gq & forw
ATITIF THT B

a) 5%

b) 10%2

c) 15

d) 25%e
80) ffcTRad e & W s 3rd hifsg
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faster than the first pipe and 4 hours slower than the third pipe. The || 10 | 11 |3 |2
time required by the first pipe is 12 {12 |20 | 8
a) 5 hours 4 |5 ?
b) 10 hours 1412416 |5
c¢) 15 hours 20 (26|16 12
d) 25 hours
80) Find the missing number from the following pattern a) 10
10 (11 |3 2 b) 8
12 (12 (20 |8 c) 13
4 |5 ? d) 9
14 | 24 5
20 |26 |16 |12
a) 10
b) 8
c) 13
d 9
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